PAPER CODE-T7197 (V;Ur‘-‘)fki
15= AF 3220 =5 10® CLASS - 15 Annual 2024 .

DGKL-1724  ¢pe

B Adui 3o b L e ne P E 2l Lir pWW¥2-BL 4D s A,B,C M2 lielidivs il

Kt sl 20 IR fi S {f Ml 41" UsFoml e Ll 255 Ae

. 1A
A tangent line intersect the circle at Wi Sermpvisg | (D
Single point 449 L1 (D) Twopoints ¢b» (C) Threepoinis ¢buf (B) Nopointatall & ¢ufs” (A)

LUttt BATOlE e Usdsn R iSS pf 2w | @)
A pair of chords of a circle subtending two congruent central angles is
Incongruent f ## (D)  Congruent 1 (C)  Overlapping /1 »(B)  Parallel (317 (A)
Alinc intersecting tho circle is called e twise /Bl | @
Diameter M (D)  Chord 7 (C) Tangent U (B)  Secant &5k (A)
The solution set of equation 8x’ —~32=0 is e ¥ 8x'-32=0 =iile | (4)
y {(+2}(m» {2} ({4}(® {4} @
The quadratic formula is -rhignn | (5) |
AU Gy gl . "”";:‘"’" g 2 0w
Cube roots of unity are S\ \}'—’f’ Bl |
cw,~w,1 () 1?»&{::) Lwew B Lw,w
If @, B arethe roots of equation X' —x—1=0 , then @ + f§ m<'l'.k§.ra+ﬂ JunPul P-x—1=0 atls a,B S| @
“ﬁ/ﬁ“})’ wo O w@ 18 1@
If atb=xiy ,tbcnal:nmmdﬂpruputyinb «va"’ ) e=Uiyin n:b:;:y Al ®
“:__(ﬁ%;%}tn) 22 © jim =2 w
Find x inproportion 4:x 32 3:15 <1 Lo x L 43115 | ()
| 20 (D) 15 (O 1:— ®) fg A
Theidentity (5x+4) =25x"+40x+ 16 is true for coongd Lodd x  (5x+ 4P =258 +a0x+ 16 =L | (10)
Three values of x q,’.ﬁuﬂ’-ufd'x (C) Two values of x g'..ﬁuh’yﬂf: (B) One value of x {_ﬁ.:.-?..{ufx(a)
Allvaluesof x - Lu#7'x (D)
Power sct of an empty set is G- Enraliirde an
{a}(D) @, {a}} © {(p}® 0 W
Ol I Et AXB Fus 28 Bl 34900ILA L Si | (12)
If number of elements in set A is 3 and in set B is 2 , then number of binary relations in AXB is
2?2m 2@ 2f® 2 W
Mean is affected by change in b N L TR oo bl | (13)
Propottion ot (D)  Origin 5(C)  Ratio =/ (B) Value = (A)
000" B = iiisriiins sec’ 0= i | (14)
1-tan’@ (D) 1+cos’@ (C) 1-sin’ @ (B) 1+tan’ 8 (A)
lRighthi:ﬂﬂtﬂtufﬂ:ﬁnhmdnf:nimhﬂwmpum&umghth: el BT BESAGA L L e S | (15)
Ciroumference &# (D)  Diameter & (C) Centre /(B)  Radius s (A)
i |
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Q.No.2 Wrie short answers toany Six of thefollowing ~ 2x6=12  ZEgfalnF Lazgeistdits  2/4)r
o, —— oy leudued | i
Solve by factorization 3y" = y(y~5) 3y =yly-5) ELUfi| i
Writo the following quadratic equation in standard form G+ D&-3) = -7 AL LUNS oL |
Find the discriminant of the following given quadratic equation 4+ Tx+2=0 et i Bomlitn | v
Evaluste w' +w" -5 wiw'-5 Zepod |y
Write the quadratic equation having the following roots 4,9 4,9 @abGondo/wditn | v
If VooR' and V=5 wheaR=3, Find K ek JUK I R=3 o2 V=5 o VooR i

Lsmthemofwmpmmduﬂdiﬁdmdn Mﬂm; il
Find a fourth proportionalto 5 , 8 ,15 . 5,8,15 Lok A0e | ix
Q.No.3 Write shortanswers toany Six of the following  2x6 =12 Mw;ﬁ&m;;.duksm 3,4l
What is meant by resultant fraction ? rcl\© ted e S| i
Comvrtomoproerfasion %5~ AR ddieSw ]|

Reprosent intrscction of two scts A and B i st builder notatior | \L & herdIANB) EHLB A Uien | i
If A=N,B=W, then find B~A QM 2 B-ATB=W A=N Ji| W
Find ‘a” and ‘b” if (23+5,3)=('?‘.b—4}n M‘i\?" (2a+5,3)=(7,b-4) ftgﬁ.}ﬁv bula v
If L={a,b,c} mmﬁnd-bmuymlmn{njwi ér#l.udk‘-‘_{ru-' LXL 7 L={a,b,e} fI| i
What s a Histogram ? - v LB | i
Using basic formula, find the geometric mean of the observations 2,4, 8 L bms SN 2'4°8 coullrhiid | v
Findrange 11500, 12400, 15000, 14500, 14800 11500, 12400, 15000, 14500, 14800 ZEpiza |  ix

Q.No.4 Write shortanswers toany Six of the following ~ 2x6 =12 iz Langerditns Ay
Define degree measure of an angle ﬁJ}’gﬁdﬁJgsu i
Convert 315" to radian Zhelagis 315 | i
Find‘ 6’ when £=45m, r=25m e=4s5k “r=25K FEedf ‘0| i
Verify that (tan € + cot £) tan 0 = sec’ 8 (tan 6 +cot ) tan @ =soc’ @ ZEch | v
Define major arc of a circle Q}JJF-JM v
Define ciroumference ZEy ks | i
Define central angle 067, | i
EINSuKF s 1t e B o A WL Al s’ F6 | v

Draw a circle of radius 5 cm passing through points Aand B , 6 om apart
Define perimeter Z vyl | ix




ru.P

PG5

8x3=24
NOTE: Attempt THREE questions in all But question No. 9 is compulsory

<y 9 /?dirwgé epzletrd Se oy o

-

Solve the equation —— —é =1 using quadratic formula z,{J;_..Ju--w_’.um,,;,mf — —x——s =1 abb | (A5 AJir
gerrcdf 3B +ap? Junlul Lepxtq=0 ebls B,afi| ®
If @, B aretheroots of the equation x”+px+q=0 , thenevalateof a’f + afi?
n x= o Sighpadd T00 & 28 4wk SUened S5 | (64U
. , X+ 2y X+ 2z : 4
Using theorem of componendo — dividendo find the valoe of %+ * % if x= y:’z
. . . 9x -7 RONY,
Resolve into partial fractions m-(xz—m | ( m iyt}:u/d’? (B)
AE ;;‘\\,
r'\‘\:\J»
AUBNC) = (AUB) N (AUC) ﬁ-.‘..q;f mﬂl 2,4,8} , B={2,4,6} , C={3,4,5,6) /1 | (A-7.4U1»
If A={1,2,4,8} , B={2,4,6} , C={3,4,5,6} mmﬁ AUGBNO) = (AUB) N (AUC)
r“\ </
Find means Pt ﬁ\ Zek bl | B)
Lengn 0 | 20-2201) 23-25 26-28 29-31 32-34
Frequency u':.f} 3 6 12 9 2

(—V2.1) e 0 F g mel K osts g B $THLO G sl
The given point P lics on the terminal side of 6 . Find quadrant of @ and all six trigonometric ratios (— V2, 1)

U3 3 S Al |CA| s BC * AB LUnZt Bl taiins¥ AABC

W8 Ay

(B8)

Prove that any two angles in the same segment of & circle are equal B4y« UnBisforso S Ll s S ot

Circumscribe a circle about a tringle ABC withsides |AB|=5cm , |BC|=3cm , |CA|=3cm
Luntiigloc S rodunf Bomle i SEep | 970y
Prmeﬁm;ftwnchmdsnfamlauuuwﬂlmtheymﬂhnﬁqmdlmtﬂmﬂmm
on/L

ARGEGNERRARARN .
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LA .ﬂ;ﬂa:&u-nﬁ.,.u.zmc...: s e szl L)y qu,u.wég., DsA,B,C N2 Mlelirs iy
K ﬂ-.,-u!uf i g,)‘-'-'.:muf’J }_.’:gf ...‘.ri’“.../ 4/ UsFmlienfl o He
% [<">."_ 24 lﬁzlJl.r'
Therangeof R={(1,3),(2,2),(3,4)} is e RangeR Iw R={(1,3),2,,G,9} /i |
{1,4} @) {1,2,4} (© {2,3,4} (B {1,2,3) @

Mean of a variable with similar observations , say constant k is e tnbiderd Lxam B et Lie 2| @
Positive =2 (D)  kitself ksFeid(C)  Zewo M (B) Negative * (A)

i i W' seneisisinis | (3
1200’ (O 3600 (©) 630’ (8) 360’ (A)
Locus of # point in a plane equidistant bW eI i s B 2B LR | (@)

Diemeter S (D) Circumforence &f (C)  Radius /1s(B) Circle o7 (A)
.2 2 S &Wﬁé?ﬁiéﬁﬂﬂl}!ﬁé&b—ﬁ ()
Two tangents drawn to a circle from a point outside it , are of .............. in length 1
Bqual Az (D) Trigle ¥ef ()0 \Daubu ¥(B)  Half id (A) |
Lu@ %Q.t\”uﬁuﬂfuwic-uumu’ 2 sSSP | ()
Apmnfuho:ﬂnufamluuhmmstwomgumtmuﬂmglnu
Parallel (47 (D) mulnppmg,fﬁ)?m) ConpumtJ.I?'(B) Incongruent f 1 & (A)

The measure of the external angle nfnml;ul.lroctngunu \ s q..t]ﬂ.dﬂ{fg:ua:ﬂ&:)} rp‘ \..-fl &)
™ i n % X
I ﬁ\;;v o j© [® W
| The solution set of equation 5x”=30x is <\~ i SV 5x'=30x 2l | (g)
Q™
{(-5,30}(» (5,30} ({0,6}(® {0,-6}{A)
Anequationofthetype 3*+37*+6=0 is a/an q.(’lf F+37%46=0 2ble | (9)

Linesr equation =hbrfsf (C)  Radicalequation whl-fsir (B) Reciprocal equation =biay/5 (A)
Exponcntial equation w=dsla(i2ed (D)

Product of cube roofs of unity is PRy % S UL T
3 () 1 © -1® o0 @

| The discriminant of 25* +3x~1=0 is bl JjHax’ +3x~1=0 =i | (11)
-16 (D) 16 (© ~17 (B) 17 (&)

The fourth proportional ‘d” of a:b:: c:d is e d' AVgL atbieid| (12)
Lo ke @ T ® W

If uX vy, then oy S| (3)
w=1 (D) u=kv’ (C) w’'=k (B) a=v (A)

= ool it G4

(x+a) (x—a) 18

anidentity {1/ (D) mnequation =hss (C)  animproper fraction ~2ld (B)  aproperfraction L (A)

If ACB, then ANB is oqual to ebnds ANB Ix ACB /Ji| (15)

| Subset 2o’ (@O  Powerset 2xsy () B@® AW
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Q.No.2 Write shortanswers toany Six of the following ~ 2x6=12  Z /=l Lingektdits 24U
Define quadratic equation ) g/ beviodon | i
Solve by factorization x*—20=x xX-20=x ZESSFPk| i
Solve 2-x'=7x | 2-X=7x 2| i
Find the discriminant of the equation x+3 =3x X+3=3x ErPadiabls | v
Evaluste (1 -3w—3w")’ (1-3w-3w") Zebad| v
Find the sum and the product of the roots of the quadratic equation 3x” + 7x-11=0 Z&r#* S bl e Wulablos | v
If 3(4x—5y)=2x~7y , Findtheratio x:y ek xiy oin x-Sy =2x-7y S| i
If VKR’ and V=5 when R=3, Find K B ZeK J " R=3 2 V=5 o VB S| viii
Find a third proportionalto  a°,3a’ o',368 oL i

Q.No.3 Write short answers toany Six of the following ~ 2x6=12 éWuzﬁ Lamgetilitn 340y

Define improper fraction (O )\ Iy ) i
ir’b"ggn?’ & {x—i-}:.:-i-:%): xf4+ ::3 Al
ilee At L sesmabieorAuin ()

Define one—one function /@>\’ ﬂ-'r-'-é' }J LB iid
If X=0 , T=0" thenfind XU T r,\..(\{\f’ ek XUTIn T=0" "X=0 S| i
Find a and b if G-zu.b—l)=(a—7,zdy\ﬂ55\’ (3-2a,b~1) =(a-7,2b+5) fréﬁ-’bma v
\JA é}?m»&é‘-»& LXM 9 M={3,4} L={a,b,c} /| wi

If L={a,b,c} , M={3,4} thmﬁndtwuhl;inuymhﬂmsnf LXM
Write two properties of Arithmetic mean Z i her sl | i
Find Arithmetic Mean of following data 45,60,74,58, 65,63 49 Lo bl it | viid
Find Median of 79,82,86,90,93 79,82,86,90,93 ZEed ks | ix

Q.No.4 Write shortanswers toany Six of the following ~ 2x6=12 ZE 1 F NP Lz g Llitn s Ay

Define angle in standard position Zp S pileir il | i
e Bl R )
Find ‘ 6’ when £=4cm, r=3.5cm ﬁr’;""' 67 €=4em ‘r=35cm —= | iii
Convert 135° into radian EheLgd 135° | v
Define right angle LW S AT | v
Define tangent to a circle ZuJlvlion | i
Detiecylc gudslcra £t Pl 55 | i
Define Regular polygon Z 5L gIE | i
Divide an arc of any length into two equal parts E” L 4 AT | &
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8x3=24 «$9 /.'-"Ulrdg &! .:.r[.l.ﬂﬁe.-ﬂfruf Jd:.-uf.ﬁ‘;/ (N

NOTE: Attempt THREE questions in all But question No. 9 is compulsory

Solve the equation 2x* = 9x"—4 Z ) =924 =il

ol a?f? JunSuL ad-sx+6=0 eble f.a fi
If a,f aretheroots of the equation 4x*-S5x+6=0, then fined the valucof a”fi?

(A)-5. iy

®)

a ] a+b _ c s c+d I&r? (lfblc¢d¢ n) a:biic:d ’G

a-b b c—d d

a _ a+b _ ¢ | c+d
a-b b c¢-d d

If a:b::c:d (a,b,0,d # 0) then show that

-.’F;'t,‘__\ A
Resolve inio partisl fractions — ' — P L L I T WY

(x - 3)(x2 +9) L (OaTed+9)
i Ee

(A6

®)

b

(A-B)=ANB' ZEabin B={1 .4,7_,}25;&"&{1 ,3,5,7,9} , U={1,2,3,4,.-..10} [
If U={1,2,3,4,..10} , A={1,3,5,7,9} , B ={1,¢1‘.7\’,‘;\T‘0ﬁ"’1hmmify (A-B)=ANB'

4\ <
,‘{\\kw
‘.\:\ \ ]
Find the standard deviation ‘S’ of set of number 71, 2,6,7,3,15,10,18,5 é’r)-'_ujlwyvﬂria,:

Q™

S

- 1\

(A-1.AJir

(B)

ér*‘ Lgul?" ka {(ﬂ.a.lh?,:rﬂ'" o) B ) .q.dh.‘n&df’l& Basli P2,-3) o

The given point P lies on the terminal side of @ . Find quadrant of & and all six frignometric ratios p2,-3)

4 JPJO"’ A LN B e tadin KAl ligl-
Circumscribe a circle about an equilateral triangle ABC with cach side of length 4 cm

(A)-8.#Uir

(B)

st ko LS S s fRdons’ e p Latodeadt
Pwuthatnslmigh'tﬁne,dmvmﬁ'nmﬂwcmaofacimletohiw:uchnrd(wiﬁuhismtadimw)ispapend.imlumlhcdmd

or/}
Prove that any two angles in the same segment of a circle are equal LIndafy uudbuﬁﬁu.-ﬂu\.gxgu 2t

-9y

28 (Sub)— 1" Annual 2024




PAPER CODE-7197 (e /J"L-) U"L J
15= A w220 =5 10® CLASS - 1%t Annual 2023 ' N
U

dpre DGK )23 A

BLIANI38 Qb Lirer s L sl Eir n Q02L& 4D W AB,C MZHHLr s seiih
Kt s zuf 3 e SIS S oML S il A e

l/z“dlr

A circle has only ane G bA i HePol | (D)
' Diameter & (D) Chord Js (C) Seomnt £¥i6 (B) Centro 7 (A)

L0 e T2 LSS pf i F e 0 fi | @

The arcs opposite to incongruent central angles of a circle are always '

Incongruent f * # (D) Congruent J'1* (C) Perpendicular s (B)  Parallel (17 (A)

The circumference of a circle is called bbb | ()
Tengent ¥ (D)  Segment = (C) Boundary s, (B) Chord 75 (A)

Standard form of quadratic equation is e LPllafatbeon | @
bx+c=0,b# 0 (D) a’=0,a#0(C) =x’=bx, a#0 (B) u1+bm+s=a,aa&u (A

2t 7§ equlto ' | &, 44 t5 | ©
e e He ot

Sum of the cube roots of unity is ___;:x' . RV Pl 6
AT 3@ @ a® 1w

Inamtio xiy, y iscalled. """'/,\ -q_?ﬂ!ry Loxiyerd | (D
Consequent H.rdf,u (110' Antecedent FJJ-"(C) Proportion & (B) Relation Jg w

If = =£=k then (@x ;' - --—-k.)' (8)
i &\‘“ ) u=vk (D) w=wk (C) u=vk’ (B) 'rl=w-kz W

Partisl fraction of ———— aroofthe form P P 71 11 m ©)
v Wy SpReP NI — ® W

Power set of an empty set is ' .,-_t-.-re.f,up’.wdl; (10)
P @ {(B}©@ {0,{a}} B {2} W

If A and B are disjoint scts, then AU B is equal to ebnds AUB JumerS7 4 B A S| QD
BUA M 06 (© B (M@ A W

Sum of the deviations of the varisble X from its moan is always b o SRV A bt K X 27| (12
Different ¥ (D)  Same Lr LI(C) One LI(B)  Zero } (A)

The observations that divide & data set into four equal parts are called et e ST L dglarasgld | (13)
Pentile I} (D) Percentile #Yud (C) Quartile #UAg(B) Decile o (A)

cosec’ 0 —cot’ 0 = ..cvuereunecn cosec’ @ —cot’ 0= .....cceeee. | (14)
tan® ® 1 (© -1 B 0 (W

Loous of a pointin a plane , equidistant from s fixedpointiscalled  ¢-bt/ e A4 A2V 2 DS R UBR L $2 | (15)
Circle +# (D)  Circumference k¢ (C) Dismeter M (B)  Radius 1 (A)
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Q.No.2 Write shortanswers toany Six of the following ~ 2x6=12  ZE felz FLazmga flits 2/Jr
Define pure quadratic equation 2y fetaon GRS |
Wito in the standard form  (x + 7) (x—3) =~7 G+N&-3)=-7 Ll | i
Snlvnnlingqul:irlﬁﬂhrmuh 4x’-14=3x 4’ -14=3x ZS e F1 Lty Bion | i
Find the discriminant 2x’~7x+ 1 =0 ' -Tx+1=0 Ze,nd0) | v
Bvalnate w' +w"+1 wiew'+l et | v
Without solving, find the sum and the product of the roots 3¢+ Tx—11=0 ot p L sk FES | i
Ifthe ratios 3x+1:6+4x and 215 arcequal , findthevalncof x 2 el x Jusss 2:5 wl Ix+ 1:6+4x S S | vii
Au=5 .ﬁ:",{rﬁ‘w, # u=3 o2 w=8l sneAF L & u w | i
If w varies directly as v’ andw = 81 whenu =3, Find wwhenu=§
Find third proportional &’-b" , a—b o-b’, a-b AL | ix
Q.No.3 Write shortanswers toanySix of the following  2x6=12 W@wﬁ&m;nﬁdsm 3 A1
IDefino s rational fraction \?\ = Ay Ny SR
Convert the fraction %:—*1 into proper fraction " am Z et S anf "3“1“:::” PARE
Define intersection of two sets _ J{" E W ST Lysen | i
If A={2,3,5,7}, B={3,5,8} thenfind AUB &\\“ﬂ,‘fr# AUB 7 B={3,5,8)} # A={2,3,5,7} /1| iv
XY 7 Y={4,8,12,..24} # X=(2,4,6,20} Ji | v
IfX={2,4,6,—.20}and Y={4.s.12._..,zqf§£‘§§;:uﬂﬁa X-Y
If A={0,2,4) , B={-1,3} thenfind k&:h Z ek AXB J B={-1,3} #l A={0,2,4)} /i | i
Define class mark Z1/0uefz | i
Define Harmonic mean _ ZE /S BTA | viii
4,4.5,5,6,6,6,7,7.5,7.5,7,8,8,8,65,65,5 ZPwb | ix
Findmode 4,4.5,5,6,6,6,7,7.5,7.5,7,8,8,8,6.5,6.5,5
Q.No.4 Write short answers to any Six of thefollowing ~ 2x6=12 &/ alz A Lanige filitn s Air
Define Radisn - e FE/dehe | i
Verify tho identity =+ cos 6 =300 0 ’::::+m.8-m9 el | i
Find ' 0’ when £=2cm r=3.5cm £=2em r=35cm fZeadd 07| i
|Convert 5 to degree Ebess i | w
Define projection wEL it | v
Define sccant Zy luer | i
Define chord of a circle _ Z Y EHLe | i
q':‘:ﬁ:fmu}:’&" 5 intsSe B s A WLud2idpnr 6 | viii
IDraw a circle of radius 5 om passing through points A and B 6 om apart |
boﬁmuhmm‘hadeimh Za lomer | ix




NOTE: Attempt THREE questions in all But question No. 9 is compulsory

8x3=24 Ui 9 A ezl sty Se fo )

or/}
LU ,‘-‘:"’ (,l..:l.t.&lli5 &fg darsle t_.?l.ru‘r : S 25-:.-:'."
Prove that the opposite angles of any quadrilateral inscribed in a circle arc supplementary

Solve the equation using quadratic formula =2 =2l Z S e JE LI i s | (W5 Ay
if’#-'—hr a*p? + a?p3 Jun/ul e +mx+n=0 sble Bg.alki|®
If a, f aretherootsofequation €x +mx+n=0 , then findthe valucof a?B2 + a2f3
=3 X+ 3z 3
o o X= T Jigetrade nt SIS s | (A6, v
x o x— 3y X+ 3z 3yz
Using theorem of componendo — dividendo sehy if x:yﬂ
- s 4 Tx+ 6
Resolve into partial fractions m ﬁlﬁylﬁdrfb‘ﬂx (B)
ods
o IO
(AUB)UC = AU(BUC) ZE=c#7 Awf/mj‘ivg} B={1,4,7,10} , c={1,5,8,10} /i | (W7 AUir
¥ A={1,3,5,7,9 , B={1,4,7,10} , C={1,5, ‘u\fbthénvmfy (AUB) U C = AU (BUC)
ﬁ\\:":\f(\/\
11500 , 12400 , Lmj@‘* 14500 , 14800 25Ul AfAm St (Resdti¥ iEE) | (B)
m:dmmufﬁwmhmmﬁé&uwm 11500 , 12400 , 15000 , 14500 , 14800
1+cos @0 sin @ ) 1+cos @ sin 8
Provethst —oo= * e = 2ousech an?’ Trcoss - 2o0eed St | W8 Adr
Us [CAj=3cm ‘|BCj=4cm ‘ |[ABj=6cm L) BE batinf¥ ABC &J6-Z A UL | (B)
Escribe a circle opposite to vertex A to a triangle ABC with sides |AB|=6cm , |BC|=4cm , |CAj=3cm
Prove that perpendicular from the centre of a circle on a chord bisects i ;.rf...i,f;fwmf.;}:ff_.f/&db: féﬂcl‘ -Sﬁ}dlr
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B I ASI IS Y Ldpana s L ls il & ir po$W2- 2L D 4 A B, C Mo Mhelrp iy
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Find x inproportion 4:x ::5:15 Zeb x L 4ix 515 | )
T j© o Zw
The identity (5x +4)*=25x" + 40x + 16 is true for gerngd L ‘Gx+4) =250 +a0x+16 =L12 | @)

Allvalues of x U2 (Ux (C)  Two values of x U7 »fx (B) Onevalue ofx=dfitf'x (A)

Thmnfnﬂor: il Uz (D)

If AC B then A—B is equal to ¢tndzsA-B in AC B JSi| G
B-AM@ ¢ @ B® AQ@

Point (~1,4) lies in the quadrant ' eEnlBA-1,4) B| @
v m© n® 1M

A froquency polygon is a many kidod . el SUSRO T 255 | (5)
Trisngle & (D)  Square §/(C)  Rectangle ;;J.'!"‘(B) Closed figure 4 (A)

Men is affected by change in \,memhg,.'_f@ il | (8
Scale Pg k(D) m,gff A34C) Value =3(B) Place .Ew

L L — B Jf ' SoosecdS = . | ()
_/;5 flf ® V2 ©@ Zz® 50

A chord passng trough s ooatro ofs il iscalled. _\: ettoml e Splesn | @)
mu(n} Ciroumforence &#(C) Secant &¥4(B) Diameter AI(A)

R BEst s WL SISV L e B gL 2051 | (9)

Nom;uhhum:uhhﬁmumm&mof in length

Triple t/ef (D) Double £(C) RBqual 44(B) Half _id(A)

A pair of chords of a circle subtending two congruent central angles is L B AT lE e i fansd pSf12s | (10)
Congruent f (D)  Overlapping «/1(C) Incongruent 1> #(B) Parallel (§#5*(A)

How many tangents can be drawn from & point outside the circle ? *E gL E e Bl | (1)
' 1M 4@ 3® 2W

The number of methods to solve a quadratic equation are WEALL S S S avlfon | (12)

4 300 2 (8) 1

mmmmofaqmum{--.#‘wﬂuo is detormined by ¢-tlelf ........... frmJJuLn‘wzu:o wdils | (13)
Synthetic division 7€7 (© Productofthorots o U WK 1 (B) Sumofthoroots «sfK i (A)

; a Discriminant 12703/ (D)

.;..u..,ﬁ.,l'w 28 #2ax ?u.«u’uz. x-x~1=0 =blf,a Ji| a9

If a, B erethorootsof x*—x—1=0 then product ofthe roots 2@ and 2 § is
-2 (D) 4 (O 2 (B) -4 (A)

If aitb=x1y &minmﬁ:ndnpmpurtyin q.a-r’u“?x aib=x:y Ji| 19
' b _y ath _ xty A X L
=== (o) e = y(c) e (B) = 0y

1 ) 28 (Obj) - 1%t Annual 2023 SEQUENCE - 2 ( PAPER CODE - 7194 )
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210 = 5 (/) o,

60 = AJ Uw) 2810 p(,f/{-—)fl& w2

Q.No.2 Write shortanswers tosny Six of the following ~ 2x6=12 & /=2 @ lazigafditn 240

Write quadratic equation in standard form (x + 7) (x-3)=~7 G+ N&~N=-7 FLphdilpSctlafom | i
Solvoby factorizstion x-x—~20=0 X-x-20=0 ZJSUF ]| i
Solve 2—-x'=7x by quadratic formula ZS eIl igond 2-x=7x | i
Find the discriminant of quadratic equation 2x* + 3x—1 =0 b G 2P +3x-1 20 wblefow | v
Bvaluste (1-w+w")’ - e df G-wew)| v
; I+ Tx-11=0 2 PL el AL S fathoBon | vi
Without solving , find the sum and the product of the roots of quadratic equation 3x” + 7x~11=0

Define diroct proportion Zuafland | i
Find mean proportional between 20,45 b et nd 454120 | viii
If ac > and a=3 whon b=4 find's’ when b=8 o b=8.RZP W e b=4 w2 a=3 sl ax
Q.No.3 Write shortanswers toany Six of the following ~ 2x6 =12 quﬂ&umg;.ﬁdxw 3,.der
Define proper fraction Y\ E S |
Goaverk i goper iction xs—::::+1 rllr_?fl“;\"j x’-;i-i:ﬂ ﬂ#u‘/ﬁh i
Definc an oo function A £ SEIS | i

If A={2,3,5,7}, B={3,5,8)} thenfind AB O @&+ A-B I B={3,5,8)} 4 A={2,3,5,7) S| W

If X={1,4,7,9}, Y={2,4,5,9) mmg&i‘f e, YUX 7 Y={2,4,5,9} o x={1,4,79} /1| v

Find a and b, if (3-2a,b-1) = (a—(.‘;;ﬁsﬁnﬁf\) (3-2a,b-1) = (a-7,2b+5) /rﬁr# buta| v
Define median ) 2y s | i
Find mode 4,45,5,6,6,6,7,7.5,75,8,8,8,6,5,6.5,7 el | vidd
For the following data find the harmonic mean Lol HAL Laritw | ix

x 12 5 8 4
Q.No. 4 Write shortanswers toany Six of the following ~ 2x6=12  Z5gfelizZ Lazge Llitns Ay

How many minutes are there in two right angles 7 tala P LU nfEn | i
Convert 2= into degree CArR TSI
Find € , when 6= 60°30 , r = 15mm n r=15 XU 6=60°30" FZppop | i
Prove that s::sﬂ+cusﬂ—sec8 s:"BJrcosH—secﬂ St | v
Define right angle FEf bt | v
Define tangent to & circle gZopflovlen| v
Define sector of the circle gL | i
Define escribed cirole 2y bl | vii

Zpbr LI e s ELIWE S 0 | ix
Write down the formula for Sinding the angle subtended by the side of a n-sided polygon at the centre of the circle




(425

8x3=24 e 9 AUirfdl a2l it Fe foot i

NOTE: Attempt THREE questions in all But question No. 9 is compulsory

Solve the equation VX + 3 = 3x~1 ZSS x+3 =3x-1 abls
Provethat x’ +y' = (x+ y) (x + wy) (x + wy) L+y’s +)+wpdx+wly) SZat

5. AJr

(B)

4a—9b 4c—9d
=
4a+9b 4c+9d

Zoedin(a,b,e,d # 0) atbircid J

4a-9b - 4c-9d
4a+9b 4c+9d

If a:b:icid (a,b,c,d # 0) thenshow that

i z : x-11 x-11
Resolve into partial fruotlon  ——r s &'gk";ﬁus/ o e -0x-3)
{2

l.‘ ]

(A-6.AJir

(®)

f}\“) ““t”_
(ANB)'=A' UB' Il Mst 7 A=(1,3,5,7,9) , Bz{zﬁ“s 7, U={1,2,3,4,5,6,7,8,9,10}

If U={1,2,3,4,5,6,7,8,9,10}, A={1,3,5,7,9}, Bs{z,},:g 7} then verify De-Morgan's Law (ANB) ‘= A’ UB’
[ ] f\‘l “
Find the standard deviation “S" ofset 12,6,7,3, 15 JQ!}E’S 12,6,7,3,15,10,18,5 A4 “S aé})-'
P
(.(?:f'-.*\k.»

) \
q‘\-\.\.""u\/

W-7,4Jr

®)

Verify the identity (tan 8 + cot 6) tan 0 = sec’ 0 (tan 6 + cot O)tan 6 =sec’ 0 St Sl

ST 1L L bt ®E ABC SLLUS IS
Inscribe & circle in an equilateral triangle ABC with each side of length 5 cm

INS N

(8)

b s Pl S § (e pin) oS e S pLa i Sehoat
[Prove that a straight line drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord
or/|
U pered st 480 Ll gl e s Sakact
Prove that the opposite angles of any quadrilateral inscribed in a circle are supplementary

94

28 (Sub)— 1™ Annual 2023
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(-‘dfurl.-) L
b : o/

Sy e

fﬂ.ﬁuw&lv.f_‘..,.a.e..-..-m-.u:u,}uéz,;;:,uidnr,.;qrw_wi‘,m #MAB,C Mz Rlrs :eqy
O Strid L eur SLS S oML S S it - 255 Aeibl

Par-4/- 23 t A
If a:b=x:y then invertendo property is ) 1);?.# l!b:::y}l‘ (1
LI n_b=1+y ______ X a b
| | @ T e S e fle
Find x inproportion 4:x::5:15 _ﬁ_'rﬂ" XUR 425015 o | (D)
Fo @ e Zw

The identity (Sx+4)° = 25x” + 40x + 16 is true for

All values of x ui"rt?t,(x(n)mwwmmnfx uF'rnyx(C)'I‘wuvﬂnnofx uft’p(ft(monuvﬂunnfx =i x (W)

If AC B, then A-B is equalto

The set {x|x € W A x < 101} is called

Finite set &258 (D) Nullset dxdé (C) Subset o (B) Infinite set Sz56 & (A)

A grouped frequency table is also called

Frequency polygon t,:um}'usﬂ © mqmcydﬁﬁmﬁdm 65 B) Data sir (A)

Triangle & (D) sm#m}kmu&"’(w Closed figure J*4 (A)

A frequency polygon is a many sided ..
SBE% 0 = i
1-tan® &\(Iﬂ
The symbol foratriangleis demotedby (0%
WS
QM
A tangent line intersects the circle at_........

No point stall (¢4 (D) Sm;hpom: VN () Twupomu 448 (B) Three points (bGcf (A)
The semi~ circumference and the diameter of a circle both subtend a central angle of

The measure of the external angle of a regular hexagon is

The number of methods to solve a quadratic equation are

oy

T s o tnts ragialiin. L Ve s el ik detasiniiall by
Synthetic division (© (&7 (C)  Product ofthe roots bV 5 (B) Sum of the roots ++£ ¥/ (A)

Sum of the cube roots of unity is

26 (Obj)-12022-60000 SEQUENCE -2

q_-fad.ﬁ—__;;;.;'(51+4)’ =25x" +40x + 16 =L | (3)

ctndsA-B Inac i | @
B-AMD 0@ B® AW
et {x|x EWAX < 101} 2 | (5)

;;.I.'Uf d:*&ﬁt,ﬁf (6)

cm?!.awﬁeqmdimm Codtfo |
REY  Eon s Sk ten e | O

J‘

b

"'7(“/ sec? 0= ... |(8)
1+tan® 6 (C) 1-+.'cdsz 8 B) 1-sin*6 (W
csrted LL S pbdats | (9)
OO 1L© A® <®W

PN A— Y V" S AN 1))

b g adle s | (11

360° (D) 270° (C) 180° (B) 90" (A
e dnd o sl glosae i | (12)
= () 2 © > @ XN

P& LLSS fabiofon | (13)
4 300 20 1
H P e SIS L 4 bxte=0 =il | (16)

Discriminant +45J/ (D)

et Aupld| as
3im -1 @ 1 ® oW

(PAPER CODE - 7193)
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#a10= = ; (?d/rtf.'rlr) U'-'L

50=/=}J, pég—c./-wﬂp") Sl 2 U v,

Q. No:2 Write short answers to any Six of the followings 26 = 12 iz B L azge LLitw 24U
Solve by factorization x’ ~x—~20=0 X-x-20=0 Z A5 | i
Define reciprocal equation i-—é‘irf...apm" i
1 o9
Salve (Zx — -z") w e (2)( — —) - = éul' ifi

Px'— x+r=0 é}'}“.’/’w (4 rujuﬁch fubt-'duu iv
Without solving , find sum and product of roots of the quadratic equation Px’ —gx+r=0

Evaloate (1 -w+w)’ ) -wi+w) Zepad| v
Find discriminant 4x”-7x~2=0 ax-Tx-2=0 P} | v
If 3(4x—Sy) = 2x 7Ty . Find the ration x : y ek xiy erlin x-S =2-7 S | vi
Find a third proportional to 6, 12 6,12 ZEek AL | i
Define Ratio £/l | ix
Q.No.3 Write short answers to any Six ofthe followings ~ 2x6 =12 iJ....u_e,*ﬁ WZgeldits 34Uy
What is en improper fraction 7 ‘«'q—Jxv’/w,! i
Resolve into partal raction. — 1)3(1_ . O gl ——— | &

ér fwn #MBXA I B={c,d)} o A={a,b} S| ii

If A={a,b}and B={c,d} then find BX A and B X B f l\ 5) :
,{FL:‘@ AF in U={Ii2l31-—--110} Jllh"{z.“,ﬁ'a}ﬁ iv

“U={1|1|3'm..'10} m A={2I4|6,s} &’u‘ﬁ\l\ﬁﬂ\\/Ar

If x=¢ and y=2 thenfind xuy Q;-;,fﬂ\t) xUy #{'JL';.K y=z', x=¢p S| v
Find 's’and "V’ if (a-4, b=2)=(2,D<{P (a-4,b-2)=(2,1) 2ZE# b 47’ | i
Define Dispersion Z 2| i

L pdr 2211500, 12400 , 15000, 14500 , 14800 st Sis\iy | viii
The salaries of five teacher’s are as follows 11500, 12400 , 15000, 14500 , 14800 .Find range

For the following data find Harmonic mean x ! 12 |58 4 el BTAGirLie | ix
Q. No. 4 Write short answers to any Six of the followings 2x6 = 12 2L ange it 4 A
Define radizn measure of an angle L/ lgidaou| i
Cuuvut-lff into degree e LN HE“ i
Findr whenf 52 cm, 8 45° | £=52F «@=45 R, i
Verify that (1-sin 6) (1+sin 6) = cos’ 6 (1-sin @) (1+4in 6) =cos’ 0 SZ=cl | iv
Define right angle HEy v | v
Define length of s tangent Zo  iduv | i
Define segment of a circle Ky b | i
Define perimeter ZE s | viii
AN sy i LU E P n |

Write down the formula for finding the angle subtended by the side of a n-sided polygon at the centre of the circle




(2~

Bx3=24 04 M_q ’ aj___;,f}u 9 ,e’dlruae! ...pzﬁumnf Jc..ut..-vu

NOTE: A.ttmpl'l‘l{R.EEqueauom in all But question No. 9 is compulsory

Y

Solve the equation by completing square  11x*~34x+3 = 0 11x’~34x+3 = 0 ggd'd;f,ﬁ;éfabl.a

=o' (1+m?) flﬁu:m.guju“:. x +imx+c)® =a* =hl-S" ﬁ.’-:cf
Show that the equation x*+(mx+c)” =a’ has equal roots if ¢ =&’ (1+m?)

(A)-S.ﬁ)h

(B)

pi_

: (P-g)? Eepoddx Lot

Find x in the proportion PP+Pg+q : x 1t P+q

Ixt-2x-1

3aml ;
Resolve into partial fractions o ox —~ r\%g-‘ﬁ &S Lz

6\1\‘*

(A6

(®)

f?)r\:\\_)

(A-B) =A'UB Jg =tV B=(1,4,7, 10] g{ria,;fl 3,5,7,9), U={1,2,3,4,5........ 10} i
If U={1,2,3,4,5...... 10}, A={1,3,5,7,9)} and a={54,rlo}mmvm@ﬁx—sysa UB
'.’“‘:'-\-(\,’ e
A
AR X=60,70,30,90,80,40  ZEr &1 Aif ety

Find the standard deviations of the data K\MTO 30,90,80,40

W14y

(8)

Prove that s cos'@ = sin’ 6 = cos” § —sin” 8 ) cos'd - sin‘ 6 = cos’ 0 —sin’ 6 ) 1 SZE et

¢ SO p LS tatior® € ABC &L
Inscribe a circle in an equilateral triangle ABC with cach side of length § cm

(A8, AJir

B

Prove that : Perpendicular from the centre of a circle on & chord biscotit 8./ U (o e S p Lty 1 St
or/}
Prove that: Any two angles in the same scgment of a circlo arc equal L st UnE I Erib S Ffi 24sinndd 1St

9. Air

26 (Sub) — 12022-50000



/ AV feldd & eVl

Lo 20= =Dy : (.,.:fu""t«-) ¢
15=AS &y VR

fﬂﬁ:}pabﬁgxwaﬁﬁUﬂ:&:&#MVﬁ{Ql@k-ﬂi&,JD #A,B,C @pj;legﬂ.dlr A
f.ltﬂj.ﬂiu.,d.l‘u:( IS, .‘)’ d-ﬂf'_.f .‘/ UsFsulle Ll - A b |

e

DG -G Lr-22 1 A

If ucc v’ then Juxv' i
u=k? 0)  wisEles. wi=k B) u=v' (A

NF:T';. }“‘i‘:
Inamatio x:y , y iscalled “‘l\r ety £ xiy o

Mesn :ﬁbj (D) Consequent frad/u ({E}Q.gamf‘;& (B) Relation d"w

x-2

Pm-lﬁ'lcﬁmuf———(x G T3 o ofthe form — :;W o ——— = 1)(x+2}
A B @ 4 Ry A By A8,

x—1 x+2 x+2 =7 x-1 x+2 x-1 x+2
fACB then AUB is equal to | {_“ﬁ“; ¢tz AUB IAC B v
D ¢ © BG® AW
Therangeof "R”is  R={(13),(22),(3,1),(44)} RE{03),22),6,),64) & Range SR
(13,49 1,234 (© {324 ® {124
A frequency polygon is a many sided ... 2 n,'-——-—————-—tfd‘-‘wwl"!d’i

Square 3, (D) cﬁaﬁ\@(c) w&p (B) Closed figure S 4(A)
o ,t'mjsc.wgy;wr' ol

Sum of the devistions of the varisble “ x * ﬁomnhmmnild‘:k g ; "‘--ﬁ,\‘;.
! i deas? B
ety (D) Two 4C lrf1(B) Ome Li(A)
{ e .--_._,___ H:
sec?@=____. ] = sec? 0=
1- t&@ﬁiﬁk« 1+cos? 6 (CJE’ 43‘9%-:171 8 B 1-sin?8 (W
R TS =~

Radii of a circle are RSN WSl e ALl
Half of any chord £..T<sf"s” (D) ,"‘ et 7_'"4[&’(0) Dmbleof& t-fm-_,ﬂ (B) All oqual 4% (A
Tangents drawn at the ends of diameter ofs mrclﬁqu_:_; 1o cach other M.ﬁdfwig{w/&ﬁ&.m
Perpendicular 15/ @Fﬁmnm B (C) x‘imnl i (B)  Pamllel 37 (A)
Aplirufnhmdlnflcimlemhmdmgtwoeongm:ﬁh;uﬁhﬂmghu &.auﬂu I Us?s i a8, S
Parallel ,@JP‘(D) JOﬂ:hmmg A1 (C) Incongruent JV,J(B)CMM Jh-‘(A)
The length of the dismeter of a circle is wﬁhﬁymm the radins of the circle e (ot Z Ll e MIPIPLe 2L
Funrm;é\@) Threetime Uil (C) Twotime /b (B)  Onetime t7fi (A)
s

. -{i:i'}__) q-aﬂfrxédiel.fﬁu .Flfx LU el

Mmmﬂmww“ww is called a/an
Rmmdquﬁm(mt{)“ (C) Radial equation =Asls(f.ie (B) Exponential equation esdved W

SN\ None of these L&'/ (D)

The discriminant of ax’ + bx +c = ou et ol +bx+c=0 bl
~b'-4ac (D) -b'+4ac (C) b'+dac (B) b —dac (A)

Two square roots of unity are wﬁ,ﬁ u‘pyﬁ{jb‘l

w (D) 1,-1 (© 1,-w (B) IL,w (A)

28 (Obj)-12022-60000 SEQUENCE -2 (PAPER CODE ~ 7194)
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210 = < (/50 &
60 = A 94 K Ly z’:ﬂl_ﬂ) S0 L33,

Q.No.2 Write shortanswers toanySix of thefollowing ~ 2x6=12  ZEgfelz Lzl ge Lilits 2405
Solve by factorization 5x” =30x 5x*=30x :ﬁ'Ju;.e.a.t i
sae (2x-3)" = (x-3) =3 & &
Define quadrstic equation ﬂd}t{ﬂ#&nﬂ i
Find the discriminant of the following quadratic equation 4 -7x-2=0 g3 bl Bndnds | v
Evaluste (9 + 4w + 4w’)’ O+aw+aw’) el | v
I+ Tx-1120  ZpP o s o0 AL ftioBonditn | vi
Without solving find the sum and product of the roots of the following quadratic equation  3x’ + 7x~11=0
| Find mean proportional 20 ,45 20,45 ZEe Ao | vid
| Urdz3i4 s 2P+5:3p+a S Sigkpi ol | i
Find the value of P iftheratios 2P+ 5 :3P+4 and 3:4 arcequal
T y=24 B ﬁr;"" x;grf__,x\=3 w2 y=4 o yx i A ix
If y -} and y=4 when x=3 Pind xwhen y=24 . \f1
" Q.No.3 Write shortanswers toany Six of the following z:ﬁ-,vuﬂ q!{d-yrx/*&m#_wdjw 32U
T A = 1 2 A
Daline s geopar tachion ;\\,‘ EW S | i
</ ) gk X0Y Ix Y={2,4,5,9) i X={1,4,7,9} /1| i
If X={1,4,7,9} and Y={2,4,5,9} mmmjx’m'
If A={s,b) end B={c,d) thenfind BXA 2ok BXA I B={c,d) s A={a,b} /| iv
Find ' and "V’ if (2a+5,3)=(7,b-4) Qa+5,3)=07,b-4) Jizgkel ‘Vuv| v
Define intersection of two scts E/JUslyrry | vi
Define class marks Zy/luedlz | vii
Define arithmetic mean L/l | vii
Pind the mean of following observations 34,34,34,34,34,34 Eersidofcisliper | ix
Q.No. 4 Write shortanswers toany Six of the following ~ 2x6=12 25/ euzF Lizige tditn s Ay
Express the following into D°M’ §'' form 47.36° e PY oMs” 41360 |
Find @ when £=2cem,r=35cm r=3.5 (© 8=2f.ﬁ$ﬂ"ﬂ ii
Verify that cot @ sec 6 =cosec 0 cot 6 sec 6 = cosec 8 iﬁ;ﬁ il
‘What is the sexagesimal system of measurement of angles? T ﬂnruwmw;?wuw iv
The length of the side of s rogular pentagon is § om what i its perimeter te e SIS LS P |
Define the inscribed cirole Z y b | v
Define projection Zw/ S | i
Define tangent of a circle Ly lovlem | vii
| Define sector of a circle Z /4, KL e s ix




8x3=24
NOTE: Attempt THREE questions in all But question No. 9 is compulsory

NG e 5 L2254 o Ahrfd spzlowrd St o 1w

ﬁ'y" oy o V11 1 I

£+ 20+ x+(3k+4)=0 i()“‘.:-gd' k ?u:ql..v.u’uﬁ..-phl-mt.tbuﬁ
£+2k+D)x+(3k+4)=0

—

Find the value of k, if the roots of the equation arc equal

-5, AJir

(®)

m-+ 5n m+5p

rn5ri m-5p

an

Am= i ir:""-.--'l.r

i nl /, JPH._-,JJ'.‘J Il 7

m+5n  m+5p |
+u_—_

m-5p

_10np
T n+p

Using theorem of componendo~dividendo , find the value of

m=5n

Qx:-"?

—e\ﬁ!}gzﬂ—n-
0)

Yx.— 7
(£¥3)(xt+1)

£ Loz

Resalve into partia] fractiona

®)

(A6 AJir

\«) \.1'..'\«
gél{ﬂJB A=Bm\ 7 B={1,4,7,10} ﬁ/fhs 5,7,9},U={1,2,3,4,
......... 10}, A={1,3,5,7,9} and B={1,4 T“M'ﬁ:ﬂnvnﬂﬁr B-A=BnA’

"-. | 7 ul
' ’“‘. b >y

¢ "\\ A L\f’
\:4{\\\:}\:\/< ir:b“'._.!l fld.pkg.u_!l.tlﬁwﬁ}nf S Ir(.ﬁd} i;f-u:j' g
The marks of six students in Mathematics are as ﬁtﬂm ‘Determine standard deviation

" S No t |23 |afs |6
/I)HIL}‘L Marks

If U={1,2,3,4,

60 | 70 | 30 | %0 | BO | 42

(INS

(8)

Prove the identity (mn6 +cotd ) (cos @ +sin ) = secd + cosec O

ooty

AN s mru' = B sl A m_u_l-idk»}-:@f 6

——— = s

Demihelcuclcofmdlmﬁmﬂpusmgﬂuuughpumu AmdB 6 cm dpart

(B)

(A8~ Jir

Prove that : Perpeadicular from the centre of a circle on a chord bisectit ¢ £/ i trf (oS e S p Lty + SaEzct

or/|

q_rn{:f »r_.z,.:uuj S dud W@ﬁ:rﬁgﬂd}r g [T oy g /] u‘-!a_}btfr 2.1 ﬁ.:-:&
Prove that the measure of the central angle of a minor arc of a circle, is double that of the angle subtended by the

corresponding major acr

-9, AJir
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w2 20= (/) P

15=AF Fre DQk~-Gl-2) g 2 wpr/

f.rui}h;ii-'«'&Ilv..C.,.-w.:.»m.-..utu;;t,.{:::.:&:v&dlfMQbi}m.wig.J DusA,B,C czblelrs =iy

Crrs b zed d s S oMl S s iioic Ll S fe i |

1 A

Mean is affected by change in PRV A - m—l F N C)
Ratio =+ (D) Rate 4% (C)  Scale ks B)  Place £ (A

Sec0.Cot@= ... SecﬂCatEi‘:__. .......... )
M O G ® o

Radii of a circle are Sl snsLl | 3)

Double of the diameter U= (C)  Allunequal <10 e (B)  All equal clep? (A)
Half of any chord &.,7<./sffy M)

%, (A ERRREIRY - | Lfi.f_f;;u,/ﬁ)?ﬁ(_;u

Tangents drawn at the ends of diameter of a circle are .............. to each other
perpendicular » (D)  non-parallel (i (C)  collinear g[‘i (B) parallel ya> (A
Angle inscribed in a semi-circle is \U e Englisn® e S
rrf4 C{Q‘*- /3 (©) w2 B) m (A)
W0 /} : ) Tt LS pf o daie it

The arcs opposite to incongruent central angles of a circlé¢' q;v‘always
Perpendicular »* (D)  Parallel dﬁ? ({,‘.’Q(’”}’ wt Ji=7 (B) Congruent S W
. IISUA L ax +bx +e=0 ehiaiuEom
equatmn ax’ +bx+c=0 is

The number of terms in a standard quadra
SN 4D 30 2® 1 (A
Cube roots of -1 are | B d-1
w,-w M -1,w,-w © 1,w,w (B -1, w,w (A
£-+% is equal to il i.,.:?
| % (D) ‘g’ © % ® W
The third proportional of x* and y* is 12K Y X
. S 0) Bl () Vi (B) y'ie (A
If uxv? ,then Inuxcv? /i
w’ =1 (D) w’ =k (O u=k’ B) u=v (A
Partial fractions of ﬁ are of the form f.Jnd?: S (17 E?f:—_l)
T THgr O il cote 0
If ASB, then A-B is equal to ctng/A-B InACB /i

p MM BE A®B B-A W

The domain of R={(0,2),(2,3),3,3,3,8} is «dnetsd R={0,2,2,3,3,3,3,4}
{2,3,3} ™  {0,2,3,4} (©  {0,2,3} B {2,3,4 W

A frequency polygon is a many sided ......... ‘ - UG 2 0s
triangle &.%(D) square 8, (C) rectangle " (B) closed figure P4 (A)

@

(5

6)

N

(8)

®

(1m;

an

(12)

(13)

(14

(15)
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& 210 = &5 (/0 S
60 = A S Uis) e Dak=G =21 Ug i oS
Q. No.2 Write Six short answers to the following 2x6=12 <&, 742 Yl S PN 224y
Write quadratic equation in the standard form -~ + X1 _g s PsiSenoson | 1 /
Solve the cquation by using quadratic formula 2 -x’ =Tx  ZES ALy iBimfeii- | 2
Define quadratic equation 2_!” o3 St s | 3
Find the discriminant of the given quadratic equation 42 - Tx-2=0 il G st By | 4
Evaluate w' +w witw! gead |5
Discuss the nature of the roots of thc:quatiun 2 —Tx+3=0 é..‘i.‘rijld‘ujuﬁmhb"dibu 6 ‘
75° : 225° E Lot b e St | T
Express the following as aratio a: b and as a fraction in its simplest form 75° : 225°
7 y=35 BZrs %" Inx=3 2y=Tu yxx Ji|8
If y x ,andy =7 when x =3 find x when y =35 _ o _ |
Find a third proportional to (x—y)* , %’ —y’ ey
Q.No.3 Write Six short answers to the following ~ 2x6 =12 .;25; O e Lelvgetdits 340
_RE.EEJ!VE into partial fractions {:ﬁ _ - &%i% ri-'-f ‘:EJi g,Eu/ d:) __] l
What is an improper fraction ? \ \(_) v.;.,dng/_;u ,e' 2
o YUX gr,wxwgq 7,9}, Y=(2,4,5,9} /1|3
It X={1,4,7,9}, Y={2,4,5,9} thenfind Yy}q
ﬂrﬁwm,,(!e.%)&i JL={a,b,c}, M={d,c,f,g} Ji|4
If L= {a,b,c), M={d,e,f,g} thenﬁndtwpémﬁryrelahonsm LxL
Define intersection of two sets _ mﬁ@\}\, N af:e}f&;i:;,;j_sn
;Jn‘tc De Morgan’s laws ..\-;';5.‘?1‘) d( L LA
;‘i:{; ;;hmetic mean by direct method for the fnlinﬁg set of data Egﬂl"mu_}usﬁlr._tzﬂ;a..d sl | 7
_. L 114.17,20,24,29,35,45 o
‘What is cumulative frequency ? - |8 'a'._zqfixﬂd’ 418
Define median N T 5_
Q. No. 4 Write Six short answers to the fullnwmg 2x6 12 df Jutl?/ﬂ Lz liy {:.;,,&,Lbu —_4 Al
Define ratio and give one example t’.ladﬁ-..ﬂmé':;&:ﬁ i
_Find Mean proportional of 16 and 1-19 ) - | é'r:““...r-ﬂid»si’ 49 14 16 _i_
Locate the angle in XY—-pInn: - 135° &Ly XY S =1iZ135° i
| 60° 30'30" gﬁf;!,mﬂ,,uiz__,uwu,ﬁ;u
| Express the sexagesimal measures of angle in decimal form 60° 30'30"
Find@ if =45cmy 2.5 cm __ﬁ - £=4. 5 cmy 2. ‘?40;11_-..;?:';5'7)";” f; -;_
| Find y when £=4em 0= _}L radian i €=4 0= gz;.ﬁéf“}:_}' )
Define angle - | sy ;J,.sb 7
i " #emsBlec=8cm 4 be150m,a=17an o & ABCS| 8
I_I:ta A AI_SC a=1'}'cm,b=iicmsnd c=8cm Fm::lmLB
;-pfzﬁ.ne ag;i draw the geometric ﬁgu:c_; the line segment of circle T - c:t.x.}g ;E@;&ji@: 9



r‘j
DGR~
8x3=24 ey 9 f’ghr‘qu ezl eyl F S Lot
NOTE : Attempt THREE questions in all But question No. 9 is compulsory

"J]
u

Solve the equation by completing square  7x*+2x-1 = 0 W+2x-1=0 ZESEpF 2 fail

B, X+ 2 Dx+ 4 Ml L3 i
For what value of k the expression k’x” +2(k+1)x +4 is perfect square.

(A)-5.Q

(B)

If a:b=7:6 ,Find the value of 3a+5b:7b—>5a spbrodif3a+Sb:To—5a I a:b=7:6/1

3 v 4 - i
Gx" 4+ 5x—7 6x3 +5x2 TJILEVU:J/JJJ

Resolve into partial ions ————
solve mto fractio Ix?-2x-1 Ix2-2x-1

(A-BY =A'UB' S2Z-) B={1,4,7,10} s A={1,3,5,7,9}  U={1,2,3,4 .. 10} Ji
If U={1,2,3,4....10}, A={1,3,5,7,9} and B={(1,4 ?@}l{mvenfy (A-BY = A’ UB’
SORNC
2L 3 A5 Ame 11500, 12400 , 1509{(}01\;500 14800 tits (e s Soxi iy
The salaries of five teachers in rupees are as follows 11500, mﬁn 15000 , 14500 , 14800

,ﬁ’
find standard deviation 0 \ 9

r'“\ "u\ </ p

‘-tv

\N‘
f\
{ \Jl

26 cosech A 5600 and Ins L AngHpnsing = T S

If sinfd = % and terminal side of an angle is not in quadrant I1I . Find the values of tanf , sect and cosect

n 4(3!,115/&’ S -T—J.‘L,ﬁafmfkﬂ’ABC L U Sl
Circumscribe a circle about an equilateral triangle ABC with each side of length 4 cm

(A)-6.Q

(B)

(A)-7.Q

(B)

(A)-8.Q

@)

LUJIMUJP::-}CPM;UHJF‘;”JMHJH
If two chords of a circle are congruent then they will be equidistant from the centre

OR/}

RS It u L ot (b B s AT
If a line is drawn perpendicular to a radial segment of a circle at its outer end point , it is tangent to the circle at

that point

26 (Sub) — 12021-50000
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w20 = s Dakk ~-4) -2 (/) P
15=AF Sy ot/
fm}u;w&b.ﬁgz:_w;sc_uca_;;}l,ig,.-abédv MQKQILLM’_';.: DaA,B,C ayzlilJirs eI
s sk §L S S M S s impia Ll S5 e b |
- 1 Adw
The set {x[xeWAx <101} is called et {(xxeWAx <101} o | (1)
Finite set ox§t5 (D)  Nullset erfé (C) Subset &rF (B) Infinite set wrts & (A)
If A and B are disjoint sets then AUB is equal to e gy AUB Jumer S 4 B #A S|
® (D) B (© AUB B) A W
A data in the form of frequency distribution is called ettt P 6P | 3)
Polygon =i (D) Histogram 9§¢ (C) Ungrouped data s»5/ @ (B) Grouped data sirisn/ (A)
The spread or scatterness of observations in a data set is called <o Lg Ketslirs” | @)
Percentile <Az (D) Central tendency wé4§¥ (C) Dispersion /551 (B)  Average ks (A)
If tan @ =+/3 then @ is equal to - NS . Intan@=+3 i | ()
30° (D) 60" (C) 45" (B) 920° (A
T Ut g di flg 2 S RO B LG | (6
Locus of points in a plan equidistant from a fixed point is called \:\H‘:f
Diameter 4 (D) Circumference ks (C) Glfcle s (B)  Radius g (A
A circle has only one .......... ?‘3:\\3\1 _\" ) PN S—" 1 (S ) PR T o (N
' Centre X7 (D) Dfa;ﬁéte’r 4 (C) Chord 7 (B) Secant &%k (A)
Jﬁ;@r_.\_’.._____.d:udf sl fe 400 ST péd L | (B)
An arc subtends a central angle of 40° then thsxbrrespnnmng chord will subtend a central angle of
X Y o e © 40 ® 20 W)
Angle inscribed in a semi circle is .| C % e brtdlar fre Sirdd | (9)
w6 M) w4 C) w3 B) n/2 (A
Two linear factors of x* — 15x + 56 are L A8 G Ll x? - 15% +56 | (10) |
(x+7) and s (x+8) (D) (x-7) and . (x-8) (C) (x+7) and » (x-8) (B) (x-7)and »(x+8) (A)
Sum of cube roots of unity is : q..;.rf bl Jd | (11) !
3IMm -1 @© 1 (B) 0 (A
e 2B u 20 ol PR+ gy =0 ebl B, x S| (12)
If «,B arerootsof Px*+qx+y=0 Then sum of roots of 2cc,2 B is
4o o ® FJw
In a proportion a:b :: c:d , b and ¢ are called LI e b Lab:edet | (13) |
Fourth proportion €@z (D) Third proportion w414 (C) Extremes ¢/ (B) Mean o2 (A)
Third proportional of x* and y” is ety x| (14
T SO e Lo
o o groii—afiE e | (18)
An identity £~ (D) An equation ..l (C) Proper fraction /2! (B) An improper fraction Aaid (A
28 (Obj)-12021-60000 SEQUENCE - 3 f')
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& 210 = =5 04&-42_..7_5
60 = A W) i

(n.'.d; U:' ’Lr') [J‘ |

Vo TR

Q. No.2 Write Six short answers to the followmg 2x6 =12 _&f Pz Ly g e Lk 5n

Define quadratic equation y 2_.}' PN ST Y

Solve by using quadratic formula 2 —x*=7x 2-xX=Tx ZES cssflrlim

xtd x--4 § Xt4 _ X—4

Write in standard form - + 1 = L+ loo3 Py

Find the third proportion to_a*,3a” b A5 LY @

, 3a°

If VxR’ and V=35 when R =3. Find R . when V = 625

If the ratios 3x+1:6+4x and 2:5 are equal, then find the value of x

V=625 2@ RIx R=3 o2 V=54V o R /]

ér}-ﬂ:.;‘d' X Jursy 2:5 o 3x+1: 644x gf‘"’.frl 6

h B W D e

Find the pTG(thtEr_f_ complex cube roots of unity ér#._,fw:.r...ﬂ:m(? ,{L(jﬂ

Without solving find the sum and product of the roots of the equation x*—5x+3=0

7
Find the discriminant 6x—8x+3 =0 6x"—8x+3 =0 é,-#uf._;; 8
K -5x+3=0 Zpb Sl el VS S dL ) | 9

Q.No.3 Write Six short answers to the following  2x6 = 12 ae’dwf;:&m,{#&m

———— — )

What are partial fractions ? 02 o

x242x-3 %i\“ Y X 4Zx-3

{Deﬁne one-one function ,;;%:\:\) =y ,JJJ‘Wu:_q:_

1
Resolve into partial fractions —>— ""\ﬁ“/ x5 J:V Lus sz | 2
3

| et dénst L O orM=4d,c,f,g} o L={a.b,0} Ji|4

If L={a,b,c}and M={d,e,f,g) menﬁndnﬂa‘ﬁaﬁmyrclanomm LxL

If X={1,4,7,9}and Y={2,4, S(\E&i}lhcnﬁndYnX

200, 225, 350,375, 270, 320, 290

P

If Zocxy andZ=36 whenx=2,y=3, then find Z

Express 315° into radians B __ cs';:l;:.if
Convert -ﬁ into degrm éJJ.-u:d)';

IInaaABC a=17cm,b=15cmand c=8cm Fmﬂmz.B

grﬁv\\%% In¥={2,4,5,9} 2 X={1,4,7,9} /1|5

....,.._.......__.__.{-._.

If X=p , T=0" then find XnT<\}" Ze XNT InT=0""* X=¢ fi|6
;

Define a frequency distribution z.'.'._g fJ(j G |7
Fmd arithmetic mean by direct method for the followmg data ir#‘h;t;}tpfﬁnb.pﬁsﬂg)bum 8

Define Mode dhg /’J.,u 9

Define proportion ZEwflx |1
ﬁr:"‘Z?:: x=2,y=3 w2 Z= 36::IZOny;| 2

 Locate the angle 135° in xy-plane =y ,;lﬁufdﬁ'-" - Xy f 135° ,ju—l

find r whcn £=56 cm and 0= 45° aé'r':“"JJr In 0=45 L 2= 56 cm
'What_ is the se sexagesimal system uf mcasurcment nf angles ? Tx‘LLerEVJMLJbKJ’gJ Uil
z’.‘rﬂl’mz_B}':tc—Ecm 2l b—lScm a=17cm J&Aii(‘fl

Divide an arc of any length into four equal parts éfj gﬂufflf.-bfdj' ...f JJUJ” i

3 15°

3
4
1'5
5'5?_
N
|3

|
|
i
|
|
"

S
2 f“ Jir

34U

Q. No. 4 Write Six short answers to the ibllowmg 216 = 12 d{;}a..y.e/f" L_,mr.gc_,u:d:z,ﬂ 4 A



.u..ﬁ'

o«n -QL-2

8x3=24 w1 9 Aok pplovrd Fe ko

NOTE : Attempt THREE questions in all But question No. 9 is compulsory

d

1 1 §+_1 L:E &1 _x_—-EE y
Solve by factorization — +——== 3 e o S 6F 2o

o, B2 Jt‘.auu;.u’uan,.:?uxu’uLf —3x+6=0 2blr «,B Ji
If o, areroots of equation x’—3x+6=0 Form equation whose roots are «* ,

(A)-5.Q

(B)

—5h 6c—5d 6a-5b 6e—5d
Ifa:b=c: o =
b=c:d thenshowthat —— = —— = ety a:b=c:d /i

: . . x2-3x+1 X -3x+41
Resolve into partial fractions 7= = e ey £ JE Loz

.,(JL Yy

(A)-6.Q

B)

(AUBY = A’ NB' JAF?P?B 1,4,7,10} » A={1,3 s::,'rm cU={1,2,3,4 10} /i

If U={1,2,3,4....10}, A={1,3,5,7,9} and_ n’==’{1~ "4.7,10} then find (AUBY = A’ NB’

\ff
ZE oo 3| F1S dpws sz njemlmu 15000, 14500 , 14300 (A bitss (Losdan? firiy

' The salaries of five teachers in rupees &n:fanft'ullm 11500, 12400, 15000 , 14500, 14800
Find range and standard deviation Q>

(A)>7.Q

(B)

Verify the identity (tan@+cotd) (cosd -+ sinf) = sect + cosect Zopfal

4?’ s Pl 35 o 25V h;ﬁu:}hLﬂI__;g/ 2
Draw two common tangents to two touching circles of radii 2.5 cm and 35.5 cm

(A)-8.Q

B)

Any two angles in the same segment of & circle are equal L g1 (R AEU S SRS
OR /L |
wf_.um_:dg.!;u’.'.w}'unf (04 I/l @Jh@.{&uﬁb;f 7]
If two arcs of a circle (or of congruent circles) are congruent then the corresponding chords are equal

28 (Sub) — 12021-50000
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o 20= =) D 4la~-10 .-C\[,_ZO (/0 dL
15 =/‘J T U“s/"_.d? i L&;;r:}‘

/(JU‘;;D.W&|.|I"£-.,:li‘.'-"f).!-".'..-u:u:jbi%Jibidf}’ﬂ{{_&ﬂ}lﬂ,ﬂi%—ln »A,B,C .:fl,l:?;ﬁ.aigé:.dir,r =iy
otsr® b asd b s S/, 4/ <8l i_.fgf Us /s i Ll ..é.f*: A fF L
1 AUir

S nikwed Sn  J§ x pP bl w | (D

An equation, which remains unchanged when x is replaced by - is called a/an
Radical equation =i~y (B) Exponential equation =il-ji=7 (A)
Quadratic equation =il-d. (D) Reciprocal equation =il & (C)

If o, B are the roots of 7x* — x + 4 =0 ,then aff esir aQBIn L TR —x+4=0 chir BoxSi] (2
o o e FTw
The discriminant of ax*+bx+c=0 is | 0N axt + bx+c=0 =ul | (3)
- 4ac D)  -b*+ 4ac (O b+ dac (B)  b*- 4dac (A
Find x inproportion 4:x :: 5:15 Sobx p4rx i 5:15 (@
L@ [© ® W
If a:b=x:y,then invertendo property is A E’; _,.-’L;F?n atb=x:y Ji |1(5)
B ) “" SO 2o x @y 2ok
2 & X \‘1\)@ a=b  x~y x “'yz
Partial fractions of ;%2 are of the form f\\; -3 s o2l s | (6)
TR O @ e e w
The different number of ways to describe a set are 1—,;;4{9 QS SUBSSFLL S S or | (D
~\ NS 4D 3@ 2@  1W
A set with no element is called {-xi ,\““j\f Py nad AL e | (8)
| Supper set; \%;-Am Singleton set o+ (£ (C) Empty set orJs (B) Subset ox (A)
The data in the form of frequency d:su'ﬁunon is called. b 2P s | (9)
Polygon Ly, 2(D) Histogram 23/¥(C) Ungrouped data +»»/ #(B) Grouped data ./ (A)
[he most frequent occurring observation in a data set is called QWi T2 prtiartoirs” | (10)
Geometric Mean 4-s+%1(D) Harmonic Mean LB (C) Median .:6-s (B) Mode »ie (A
10sec’@ - cotf@ = ... cosec’@ - cot’d = (11) |
tan® M 0 O 1 B -1 KW
Radii of a circle are ' MUl e sigLi | (12)
Double of the diameter 5= 47 (B) All equal /00 - (A)
‘ Half of any chord 2 /T=7ys’ (D) All unequal i, 2 (C)
\ tangent line intersects the circle at bV S v | (13)

No point at all.¢’ ;& (D) Single point (i (C) Two points ¢46:«B) Three points (et (A

S e T P Ve 3 60° 4 p 24 ou{.Jr’ 4. G 14

\4 cm long chord subtends a central angle of 60° . The radial segment of this circle is |
“4emD) ¢ 3em (O F2cm (B) ¢ lem (A

—ebriaiir® Lo Juad | (15)

T s T w
™ O I®Iw

Angle inscribed in a semi circle is

oA

26 (Obj) -12020 - 66000 SEQUENCE — 1
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& 210 =25 4a3LEN deaa MATHEMATICS (L
s0= A bo DOe-l06190 b ko
Q. No. 2 Write Six short answers to the following 2x6 =12 L err P Latirge L)ln 2/=‘J1r

Define radical equation and give an example. EnJo iy i | 1
Write the quadratic equation in standard form H_xli4=0 2 2 P b d B | 2
Solve the quadratic equation by using quadratic formula S -9x-2=0 2 Seutlumedrsi g |3
Find discriminant of quadratic equation 6x* - 8x+3 =0 -_ﬁfﬂ“-ﬂ&)f@bpd;m 4
Evaluate W7+ W*.5 W7+WP.5  gemai|s
' ICHTx-11=0 Zp o f S e VPl B LS Sl | 6

Without solving ,find the sum and product of the roots of the equation  3x*+ 7x -11 =0 i

Define joint variation . - LSS |1
Find the cost of 8 kg of mangoes, if 5 kg of mangoes cost Rs. 250  gfr# =/ #87ne 12503 SurTr/ ¥ 5 /1 | 8
Find mean proportion to 20 ,45 20 45 Zpeh o tides | 9
Q. No.3 Write Six short answers to the following 2x6 =12 L SN2 AL e fditn 340y
Resolve into partial fractions :::i N\ ii:: r-f'r sz | 1
What is an improper fraction? . 7 \‘: 2/ feln s | 2
If T=0',Y=2Z" then find YUT O\ ST M YUTIY=Z T=0"/i |3
If A= {0,2,4} B={-1,3} thenfind Bx AandB x B -@'@}ﬁiﬂ #BxA InB={-1,3}.A={0,2,4)} 5la
If Y={-2,1,2} then make two binary relations for Y x¥ -~ Lbit$End LY XY In¥=1{-212} /i |5
Define one — one function. . ’CEUF PSS s | 6
What is curulative frequency? < g Pt | T
" -f."ﬁ"fi_; / bt al S b ernie L P S | 8
Find Arithmetic mean using direct ruetbod for following frequency distribution.
(Number of Heads) X 1 2 3 4 5
| Frequency 3 8 5
Define median and write its formula By e | 9
Q. No.4 Write Six short answers to the following 2x6 =12 E ez Lolrge Llibn 4 Ay
| Verify the identity #2:5%%_ = 1 +n g K Sn0iCe ) 4 tan g tleilele |1
tan’JpJJiq.J&,mr 84° (S laln Ui 12 b K | 2
In a circle of radius 12 cm ,how long an arc subtends a central angle of 84°
' Zp» meB Inc=8cm, # b=15om.a =17cm 2ABCA /1|3
InaAABC,a=17c¢m,b =15cmandc=8 cm .find m2B="7 .
Define chord of a circle. Zw LN : 4
Define non collinear points. Euflwund |5
Define secant of circle oy sl | 6|
Define circum angle. Ay A
Define Reczibie circle ’ Ly fnge |8 |
Divide an arc of any length into four equal parts. = Lo ek LSS | 9 |




r‘u.«l"‘

DGic-1o-91-20
8x3=24 < 9 A ’4’ epizltirl Se L ou

NOTE : Attempt THR 3E questions in all But question No. 9 is compulsory

HOY

Solve the equation by completing square 7x+2x-1 =0 LB S dndeit

(3k+2) x5 (oD xH kD) =0 e ad & Junsessilain/|
Find the value of k if the reots of the equation are equal (3k+2) x’-5 (k+1) x+H2k+3)=0

(A)-5

(B)

Find the values of variable in continued proportion 7,m-3 ,28 P S N o

. ) ; x* 4 7x+11 x4 Tx+11
Resolve_mto partial fractions I e3) _.,*;.i\j/,. i ed) é'gkb' Lz
(0 :;\ =

B)

f\\\)
| InB={2,3,5,T) u A-r’{l 3’/579}U {1,2,3,4,56789,10} /i
| ¥ D> (AnBY= A'nB LR A
I U={1,2,3,4,5,57,89,10 , A={1,3\,‘5(}\,9} and B={2,3,5,7} then verify

AN
the de-Margan's law. (A N B)’ =A’na’~$‘fv
Pl

QY © ,
Find the standard devizion ‘S’ of set of umbers  12,6,7,3, 15,10, 18, 5 Zf?xl" ‘S A AmKLA

(A)-7

B)

P 1+sin®  1-Sin® '
that 1-sinf = 1+siné 4 tan 8 sec & ' ﬁ“:”r

Prove that if two chords of a circle are congruent then they will be equidistant from the centre.
OR /L

RIS P s M LS Il e Sng S e e
Prove that the opposite angles of any quadrilateral inscribed in a circle are supplementary '

i
L

Wn |AB| =6 |BC| =4/ ,|CA| =3 AV (R nfl.q.(’lrl'f'ABC el A s | @)
Escribe a circle opposiie to vertex A to a triangle ABC
with sides |AB| =6cm, |BC| =4cm, [{CA| =3cm
Luniifac S, /u.?u.mf e Pans e S1.SE é"{ =t (9

26 (Sub) ~ 12020 - 50000




PAPER CODE - 7192
10® CLASS - 12020

e 20= =3 Dek~(0 - ~§) 2.0 (/0 P
13 “f}'-r U"f‘«-"’ | Vg7 ..'.u.rr
T3 3 Lolrerne ;,cu.f.ff.la":.L-JL-*Ldffﬁ{Léthi—l,ﬂéépJD »#A,B,C .....«!;.,FJ%L.JW,-; T
b.ﬂ‘J:‘"JJ&?iﬁanAbﬁu;fd’L/{fuﬂ_L.fgfu:g f;r.:y:,._{..e‘;f'b_--‘:':_w_? b
1 ,.»-’ Uiy
The solution set of equation  4x*- [6=0 is S AE 16 =02l | (D
+2 (D) {£2} (&) {4} B {+4} A |
If b — 4ac <0 then the roots of ax’ +bx+c=0are .-gﬂL.nu:mﬁ ax’ +bx+c=0 =bis 7 b? — 4ac <0 (2)
none of these  (#'J/ (D) imaginary (%7 (C) rational ¢ (B) imational 7 (A)
et PSR i 20 Fun L. K= x-1=0 26 B, | (3)
If «, B are the roots of x*— x — 1 =0 then product of the roots 2 and 2 is
-4 (D) 4 (© 2 @ -2 W
The third proportional of x* and ¥ is . e Y a2 | @
| _ o L0 ¥® L W)
If a:b= x:y,then invertendopropenyis eI aib=x:y/ |9
c=lmy B (g S @ e W
L2 D) N 2D # ﬂr\\ rr_t'lhf!-'-.m_..(j f(x)= g—i% RN ()]
The function of the form f(x)= EI-J- with DO # 0 wh:r%i@;hk&[)(x) are polynomials in xis called |
' none of these L%/ 2y (D) aﬁ&cﬁm{.{@i an equation =il- (B) an identity =iV (A) |
| The number of elements in power set of {1,2,3} is _ e SIS Al e i £{1,2,3} | (D)
;--\\&%’ . 9 M 6@ 8 B 40
The domain of R={ (0 2),(2,3} (3,3),(3,4)} is @“5‘:\, - «ux DomR 7» R={(0,2),(2,2%,3,,3,H1)1 | (8
@’}‘L 2341 M) {024} © {023) B {034} (A
Mean is affected by changein <1 et L S e i | (9)
none of these J2"(}/e fw (D) Rate -7 (4(C)  Scale Fu-k(B) Place .6 (A)
¢ The spread or scatterness of observations in a data set is called. _ _.;..nl,fﬂ&{ fatalorys” : (41V)]
none of these &7}/ 2cr (D) central tendency w#.8/, (© dispersion A%1 (B) average b {(A)
IR A an
l 1+8in®  1-sing 4 1+sind . 1-sinf \
: cosf (D) sec’@ (C) 2cos'@ (B) 2sec’@® (A
| A chord passing through the centre of a circle is called e i S et iy | (12)
Secant ¥k (D) circumference L (C) diameter # (B)  radius s (A
ALt WESII L e 3L Foki | (13)
The tangents drawn to a circle from a point outside it are of... in length.
' triple  ¢%d (D) double (5 (C) equal 4is (B) half —is (A}
b IS MM O S5 | (14)
| The semi circumference and the diameter of a circle both subtend a central angle of
180° (D) 270° (©) 360° (B) 90° (A)
Angle inscribed in a semi circle is et oslin® L Jaad | (15)
| r@m o I® I w
28 (Obj) -12020 - 60000 SEQUENCE — 1
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10th CLASS - 12020

MATHEMATICS &V ~

& 210 = L) dean
60 = A Jilo (20 s/
Dbie-14-G1L-29
Q. No. 2 Wite Six short answers to the following x6=12__ FofuinF Ladrgaididin 20
Solve by factorization 3y” =y (y-5) 3yt =y (y-5) ES Y 24 I 1|
Solve by using quadratic formula 4x’ -14 =3x 4x* .14 =3x LS e L Ly hiciiodom | 2 |
' Define exponential equation and give example. | -Mﬂ"%{ 3 fendied |3
' Pind discriminant of quadratic equation 4x* - 7x -2=0 42 Tx-2=0 s 0N G | 4
Bvaluate w” + w" - 5 w+wt -5 gepad |5 |
“Write the quadratic equation having roots 4,9. st 49 SulS '4{ bl 6
Find % in the following proportion pparg s xn BoE 0 pog?  afpeddx setidis |7
Find a third proportional to a® , 3a* e AL ARE 8, 38 |8
Define proportion Zw i |9 I
Q. No.3 Write Six short answers to the following  2x6 =12 . jgw,ﬂ;.-.uumgmu 34 v
Resolve —=="—  into partial fraction. oy T s E e |1
‘Define improper fraction. {\'g“\ 2l g | 2
If A=N,B=W then find the valueof B- A ,i(rf]‘) ZEB-AJ B=W A=N /i '3.]
Find a andb if (2a+5,3) =(7,b-4) B _,;;3\5? Qa+5.3) = (To-d fi &b baa |4
If L={a,b,c} and M={d,e,f,g} then find L x M. Q Qt e Lx M ?n M= (defg} + L={abs} fi |5
Define complement of a set o \\”‘5\' ) &y ,-'J__A,-r ¥er |6
Find the mode! size of shoe for the fojlq%[hé:tm ErPeasalirsigds s 7 CE B (] IO 4 PP | 7 [
4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5,7 ] ’
Write the formula of mode for grouped data -é_ﬂ,wm..—,’.ﬁww,/ 8 |
Find arithmetic mean of given data 200,225,350, 375, 270,320,290  zpbbaidotird e, f
). No. 4 Write Six short answers to the following 2x6 =12 E ez Loiria bt 4 A
Convert the angle into radians -150° S A &b - 150° ‘ 1 ]
Find ¢ when 6 = 80", r=3.5cm | 6 =180° , r=35cm Fupme |2 |
Define obtuse angle. CAy APy 3 | 3 |
[ Define chord of a circle £ 370 |4
What is meant by length of a tangent? tes e dUduv |5
Define arc ofa circle. ...‘.'_—;_F(_g}‘fg}&(_j:, 6
Define cyclic quadrilateral, ek | T ;
Define Escribed circle oy himfe 8|
LS N d unt A3 2AWIS BC #AB wiimLlJd il o I
If E*ﬂ 3cmand BC =4cm are the lengths of two chords of an arc, then locate the centre of arc . !
l



r::,nl’

DGK~10-Gr-n0
8x3=24 ey 9 /?Jrgrf’.’—! eyzletird Se kot )
NOTE : Attempt THEEE questions in all But question No. 9 is compulsory

Solve the equation  «'- 13x*+36 = 0 X' - 132436 = 0 ZSSenl 0 | (A5

"X -28x+48=0 _wen 2w S 7 0n | B)
5 Solve by using synthetic division if 2 is therootof x’-28x+48=0

1Zab

[ el 2 BB g feedd e | (A6

Using theorem of ccmponendo —dividendo , find value of ——2 . X260

12ab
X+6a = x—-6b if a=b
| Rostive Hits partial Secd . #2002 | @)
e P RS (x+2)(x? +4) (x-l-z}{xz +4)
I« B={1,4,7,10} »A={1,3,5,7,9} (pU={1,2,34,.—9,10} Ji| (a7
\\5: .
,93“\) A-B = ANB .Zo
| If U=(1,2,34,....9,10} , A={1,3,5,7,9}_ m@*{l 4 710} then
provethat A~B = ANB’ _5/;,‘\‘_\,5“’
(‘P\\I\g}/
f"\"‘l \\L‘Ir/
Determine variance of ggiven data ,g:\i‘\ﬁo 70 30,90 , B0 , 42 ek e frinss | (B)
r’l;

N AN S 0 SFEFBIn sin0<0 4 tan@ =34 /i | (a)g
If tan 8 =3/4 and sin @ <0 . Find the values of other mumcmcflmnuumat e .

UL G L v Finfe¥ ABC a8 5L A 1, | (B)
P KSE Un ﬁ“ﬁ =6 BC=4/,CA =3 ¢

Escribe 2 circle opposit: tovawamangleABCmthsxdw |AB| =6cm, |BC| =4cm,
|CA] =3 cm Find its radius also.

42 S A e S p Le iy S o 9
Prove that perpendicular from the centre of a circle on a chord bisects it.

OR/A

LA A (NSt S LR g SEE
| Prove that any two angles in the same segment of a circle are equal

I

28 (Sub) — 12020 - 50000



PAPERCODE--?IQ!

“(10* CLASS - 12019)

M 20E @Ry e MATHEMATICS (SCIENCE GROUP) -:.,4/;;'1.—) LY

15= A _u"'y".-# /2;%*4’#/0(,)@ b/

LL)'.;F,:.L?J,‘Wf_.._:.e.:.r.ua,u:uu‘uia,..-é:.p.f.dar,q.;qmm_.,ai_a:n.o- A.B.C cbz:figldrs  iahia
fﬂ;:‘-’.i-ii.;.-!ﬁufig,ﬁa;ﬂJL/{f.:—ﬂLff;_;w}hu{._};-u{l -é"},'.’r-—uﬁ b
1 A

Thenmberofm‘minlt;tmd;dqu;dnﬁneqmﬁm e’ +bx+c=0 is g.ﬂﬂgfuﬁxuﬁu’+hx+c=n el fubar Sasns |l (1)
s @ 3(0 2@® 1(AJ1

If b’ ~4ac <0 , then the roots of ax’ +bx +c=0 are DLalnl ol +bx+c=0 ziiein bi-dsc<0 S ! @)
imaginary (%4 0) real &F (Q) imational P (B) mional Jt(A) |

1 ¢« arethe rous of the eqution 2 -3x-5=0 thenct B is sz X B IUmSuL 26 -3x-520 =i B x / |(3)
a2 @ 32 @ -sh2® sl2 W

The third proportional of 28 and 4 is b1 AZK 411 28 | (4)
7@ 7@ s @B 47 (AJI

Find x inproportion 6:x i 3:5 {.:fr":. 4 1 & 35...-be(5)
{bi?‘; 9 () 10 B 15 W]

3—:— i A TR L R R K B ) % = 2x | (6)
an inequation ...-m.»-,;'(D} Anidentity =LV (C) mnquﬁi?;é;) (B) = linear equation =li~(fof (A)

The set having only one clement is called "LU ‘,—..rmfm'(;.{i..i/a.ﬂf o | (7)
, Singletonset  2-f (D) Sﬁm\&r}(ﬂ Powerset <ok (B)  Nullset =i (A

Point (-1 ,4) lies in the quadrant ~\ O '<’ cbatls (-1,8) 4 | (®)
- Q\%W wm m@@ n® 1 W

A histogram is & set of adjacent <§J . e A 2580 | (9
Trisngles 53 (D) Circles ¥Us#: (C) Squares KU, (B) Rectangles KU~ ()

5 mdisas = | =g 3 G0
150° (@) 120° (©) 90" (B) 60° (A

tftan @ =3 , then B is equalto - IS ir wn@=+3 S| (1)
T, R 60° @) 30° (C) 45° (B) 90° (W

A complete circle is divided into ;‘:_ﬂ_.»i_ff.jf;_}uu“"! (12)
270° (D) 180° (©) 90" (B) 360° Q'UI

B sapirenivins LRI L i EJ L | (1)
Tangents drawn at the ends of diameter of a circleare .............. to each other I.
collinear 4/ (D) nos-parallel (17 Z (C) panallel 77 (B) perpendicular {.«J

L Mermraramsemaesmee et BRI e e 4 i S s | (16)

A pair of chords of a circle subtending two congruent central angles is ,
purallel (/17 (D) overlspping —/ > (C) incongruent /i~ 7/ (B) congruemt U= (A)
Themnlmofﬂ:cmmnllng?coflmpﬂnochgmil ‘:_QMJJJJU{;US;,QLQ}'}'_Q f (15)
-n n n n
|

26 (Obj)-12019-60000 SEQUENCE- |



(10*crass-120190 DG LHr-10717

(é‘_-"" I J.u)

210 = MATHEMATICS (SCIENCE GROUP) (40/U%1) &L
60 = AN WUio) e s/
Q.No.2 Write Six short answers to the following 2x6=12 I e Lovrgeltdiva  270r
—Solﬂhyﬁ.mﬁnﬁm 3y —y(y=5) 3y -yly-5) g JSUf 2|1 I
Write equation in standard form ?'ill %“‘":"'1 Z oL S | 2 |
Bvaluate (1 -w-w")’ (1-w=-w) i{'):'i:i__
Wn;ﬂ;_qmd:m.qmmh.m,mu 1,5 & sviodume 1,5 u | &
&S ok Vvl P -grtr=0 ohiefon | 5
Find sum and the prodnct of the roots of the quadratic equation Px’ —gx +r1=0 L |
] &b i oty p? JunSul epxtqa0 =il B,x |6
| If &, P are the roots ofthe equation x' + px + =0 _then find the value of «*+ B
Define i vesinion __ Eajden |1
'tFind:. inthe proportion (3x-2) 14 11 (x+3):7 (3x-2):4 :: x+3):7 g’:r.u"’a-'d"n' St (8 |
| Find a fourth proporsional to 5,8, 15 5,815 gL |9 |
_Q.No.3  Writc Six short answers to the following 2x6 = 12 !@W}ﬂéuﬂlr{;.pﬂdihi 32 Jr
 Resolve into partal raction —— O o gl u oz |1 |
“Whﬁ&mﬂm-mﬁum& o r\{:“\ & O nessSJed | 2 }
g{rﬂ" ANn(BuQC) 7 c={1 Q"L@'{z"""” .A-{i,z.z,as.s.e}/'r 3
If A={1,2,3,4,5,6} , B={2,4,6,8) sad C={1,4, Blm AN (BUO)
Find & a0d b if (a—4,b-2)=(2,1) | { (-4,b=D=2,1) Jigr, b i 4
_ Write all the subsets of act (s, b} (@W I'gf’.'.-:é‘?rﬂﬁ {a,b) o | 5
Dsfine Median O | &/ 0|6 |
Define renge | Lafder |1
110,109,84,89,77,104,74,97,49,59,103 .62 & =i luPto | 8 |
Find range of the following weights of students 110,109 ,84,89,77, 104,74, 97,4959 , 103 , 62 ]
| Whatis Kisogram 7 LI o ,
Q.No.4  Wite Six short answers to the following 2%6 = 12 L r P Lo g lditn 4 Ay
Pind 0 if £ =2cm r=3.Scm =2, r=3S5/ Bghes ‘0|1
| Verify that  Cot 6. Sec @ = Cosoc 8 . Cot8.Sec & = Cosec @ S st | 2
_What is meant by the projection of & given point 7 Sest e S L | 3_“
| Differentisto betwoen minor arc and msjor arc of a circle FE NS LT sF 2l | 4
_En:h;ﬁof-mhm—m-d? 7+&J4J’5JJHJJVUI 5
'Dtﬂmnncafu-&uh _ #-.-i‘}l.ru"}o(t_f?_ 5_}
e Gt/ |1 |
oo e O YRR
e e rar



1.2

UGy —e~1

8x3=24

NOTE: Attempt THREE questions in all But question No. 9 is compulsory

30 9 AUr R izl iy Jel o

%)

3 33 -
Solve the equation by completing square x* + 17:4-3; =0 x4 17x YT 9 ﬂd’d/ok'-dat

(A)-5

X4y 42 3xyz = (xeyeaXx + wy + W x+w'y+wz) A | (8)

a a3t+clse? « a_¢
l b \biedien Iﬁj"“"ﬁ“d’

(a,b,c,d,e,f,20) /i

-

a
If;’

alnm
- ®

a ai+clspl
{a,b,c,d,t,f,-‘#ﬂ),lhﬂ‘l’m b bi+dlent

9

; . . 9
Resolve into partial fractions T A GeDei {Jﬂb’ Lz

®)

PPN
X-Y=XNY SZebly=(1,3,5,... A7) xﬁﬁa,v,a.u.m.m} Us{1,2,3,.rens .20 i

If Us{l.2,3,.n. .za}.x:{1.3.7.9.:s.1s.2¢<\i§’4 #{1,3,5 e, 17} thenshowthat X-Y=XN Y’
O

~Q O
Pind the standard deviation ‘S’ of set of numbers \4@!.9,3.9.13 9,3,8,8,9,8,9,18 #‘rﬁ"'s'dif"-‘é"

~R

——

(A)-7

|
{
{
|

(B)

1+Cosf Sing 1+Cos@ Sing "
Vel o " T=Cess Cos6 ° Tocoss  S=tfeludls

L&’w..(;*wh(s.s Hi,)k#r?’lft:l:ﬁﬁ-wlf 30 2.8 Sl Pt e s l

anmchclﬂﬁﬂindiii.ﬁmm3muthnirmmmﬁ.5mlpu't,ﬂtmdrtwlwodhulcomhngcnn

(A)-8

6:))

Prove that two chords of a circle which are equidistant from the centre are congruent

oR/{

Prove that any two angles in the same segment of & circle are equal ...ar:_m.:(:;uxdm;.;uﬂm.{m.’._mf ‘ wcl

LS P A IS S 25035 L iy St |

26 (Sub) - 12019-50000



PAPER CODE - 7152

(10® CLASS - 12019)
anmmcs (SCIENCE GROUP) (o+/ /1) L

o 20= =0
Jl.'ﬁ );:;’ p4£f fl "'/0 s /9 .._..:f
f:L;l/!J.lﬁv’J&"L.-V...-")Jc-u-u.u!.!é:é-lab'édEr,’.«'Ql‘Ul?-;ﬂéé-JD.a.llA. B,C .-.-I.u’.'j.-bﬁ.JIr; tabla
fmr"#..-wu/). ;ﬁu}fJb/dquL/{fUﬂUﬂh.:-.ﬂ -d‘ﬂ/;;,f L

| Adr

fwo linear factors of X' — 15x + 56 are . BB Ssfnlx’-15x+56 | (1)
x+D,x+8) @® &-9,&-8) (© x+7,&-8) @  &-70,&+8) @

f o « [ are the roots of the equation 7x’ ~x +4 =0 then & Bis ecnsxXP Jun Sl 1R x+420 b B /i | (2
‘o lo Ze 5w

2
=il
Roots ofthe equation 4x” =4x + 1=0 are ;.mf.mﬁdx 4x+1=0 =hte | (3)

irrational (Pt (D) imaginary (% 7 (C) real, unoqual P 4B real , oqual J"zu(A)

T WP RL Riy HEVIW | (4)
The fourth proportional w of xiy :: v in : " g_w-
2D @ ~® |
vy X ¥ |
22 < | then componendo property s eededil 1|
If b d' prop o ol 5 a . ¢ (B) _I_= .o )
—h'ﬂ "_d" (.D) E (C) R‘EQ(-._\;\'T“ a+b (+3d :
. ; J X
e TS . LU VU S ' @\4_{: ........ L e L (6)
(x=1)(x+2)
aconstaztterm {4/ (D) mnidentity =LV (C) uimpmperhcﬂ%;%\&pu/ (B) aproperfraction /o2y (A)
Theset {x/x € WA xS 101} is F @ et (x/xeWAx<101} | (D
Piniteset Lot (D) Null set _%o\ )  Subset <r(’ (B) Infiniteset crift< (A)
Therelation {(1,2),(2,3),(3,3),(,4)} is & fetuf iz {(1,2,2,9,6,9),0,4) & | 6
Onc—one fonetion ¥ s (D) Nmnﬁug@j;s‘fd'h (C) Into finction Fsy (B) Onto function JWsul {A);
'Ihup'udmmufobnwmm;gﬁ%muuﬂud @ruf;ﬂ:ﬂ’.euu:nmf (@
median i&y (D) eentral tendency @57 # (C) dispersion A1 (B) aversge 5 (A)
2 e s - Qg umaTiall o e R D)
30° ) 150° (© 125° (B) 135° (W
1 1 _ 1 .
14500 T 1-5im8 | Tsms | ITsime T e (n
' 288 (D) CosB () Sec’® (B) 2Cos’ 8 (A)
A complete circle is divided into et femf | (12)
360° (@) 270° (©)  180° (B) 90° (A) |
¥, ;Y R SR _s.sdﬁjy'uviguc_ﬁ&:,@.ﬁh}u‘ﬁ | (13)
Two tangents drawn to a circle from a point outside itare of .......coovvccnvinne in length ; l
Triple ¢.¢ (D) Double ¢ (C) BEqual 4, (B) Half .._-A(AJ'I
e s Jl.aux_fr/aa.u'!t. 60° -.I'J'L‘I/IF‘J!-I-' (14) :

If an arc of a circle subtends a central angle of 60° then the corresponding chord of the arc will make the central angle of
80* (@) 60" (C) 40° (B) 20° (A.)’
How many tangents can be drawn from & point outside the circle ? LEE N T e B Lty | f (15)1
4@ 30 1 ® 2(&),

|

. |

28 (Obj)~12019-60000 SEQUENCE -1 ' |
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(10® CLASS - 12019) I/

210 =5 0 A (/ , —JO ~1 9 MATHEMATICS (SCIENCE GROUP) (o /L) Pl

60 = A Whe) e v

¥0.2 Write Six short answors to the following 226 =12 E i Loy Lhin 240
ine exponential equation g /le-dei |1
te the quadratic equation 1—:;4-’—:-1-5 in the standard form £¢rau4~/;:-l-+l‘-§l-s =l | 2
| the discriminant of the quadratic equation 6x' —8x +3 =0 G LN 6 -8x+3=0 ablofon |3
pate (1 -3w-3w") (1-3w=3w) grrad | 4
= the quadratic oquation having roots - 1,7 ust =1,-7 Sl e cilefon | 8
2e synthetic division Y Ak
Ungs 3:4 a1 2P+5:3P+4 S Sig el P

the valoe of P, if the ratios 2P+ 5:3P+4 and

314 areequal

a third proportionsl to 28 ,4 & 284 | 8

)¢ inverse varistion gf...b‘/’gfuﬁ'ﬁ ]

0.3 Write Six short answers to the following 2x6 = 12 &"Jﬁygﬂ&wr{;u&bm 34
o x-11 =1y

v futo partial factions e rm &L 7 | |

(A-B)end(B~A) when B={2,4,5,6,8

B={2,4,5,6,8) m-ﬁ}ﬁi,\ﬁ:} .ﬁaf()-' (B~A) » (A-B) | 2
) A={1,2,3,4,5} > il |

o subset

AN &Ei/lerd |3 |

LxMwhen L={a,b,clandM={3,4) X‘TQ’?‘"’F L={s,b,c} ol M= (3,4} S ™LxM |4
mmmwanma-{(:.:).(z.z);@iﬁ)jﬁ R {(1,1),2,2),3,3)) gL P EomctdR | S
‘*\:\T"V 12,14,17,20,24,29,35,45 € (7~ bsldoWorLisies | 6
rithmetic mom for the data. 12, 14, 17,20,24, 29,35 45 *
s range Ok
4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6.5,7 & P b slnrsiel )l iirirtisic | 8
10 mode of size of shoo for the following data 4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5,7 ,
» median - & /U s E 9
.4  Write Six short snswers to the following 2x6=12 &P Lovirge ttitn 4Dy
%8 135° into radisns dogssl 138 |1
), when £ =2cm and r=3.5em re3S =20 G~ ‘0|2
+ 2ero dimeasion A AL
circumferenoe of a circle G/l |4
tangent of a circle G Slvlen|s
chord of a circle & 0nLles |6
ccatral angle &/ |1
s polygon & dten s | s
incircle gy /S’ |9




(1.

DGK—C} 270

§x3=24 e 9 AIrF ey lovrf S fon o)
NOTE: Attempt THREE questions in all But question No. 9 is compulsory

‘Solve the equation using quadratic formmls 4z - 14 = 3x ' -1453x E S JE1liridonamna | (A5

Suhehmdmm xX+2y'=22 5 vy =29 X+2y'=22 , Sx'+y'=29 {qu?uw;w (B)

Ax= ﬂ S :::;+ ::—-:!: E P edenl Sl L | (s

Using theorem of componendo~dividendo , Find the valus Ei--1-5:+E'-2--=- if x= 22

x-1ly x=2t y+1
g . £ 3x+3 _1:"\ 31+3
Resolve into partial fraction Ty . \H\J ) GoDed) éukvu':/l.ﬁz (®)
(
i\’i\
X-Y=XNY SEet?Y={1,3,5,..., 17} %-{f . .9 15,18,20} Us{1,2,3, o, 20} A | =7
I U={1,2,3, e 20}, X={1,3,7,9,15,18,20) .@,y»n 3,5 ey 17} then show that X-YsXN Y’
\{Q‘) i
Find the standard devistion * S’ forthodats 9,3 r},‘m 9,18 9,3,8,8,9,8,9.18 g ‘s’ JifiAe | (B)
&Q‘E‘*’
N \,

ﬁrﬁ"dk‘ﬁﬂ#u—q. foﬂ,ﬂlmur.ﬁ.f.)f 40 AN=30Ll | (A)-8
A tree casts & 40 meter shadow when the angle of elevation is 25°. Find the height of the tree.

U3 (4, 6 AUAISTA 4 BT, BB LinZonS callabde¥ ABCat el Ay | ()
Escribe a circle opposite to vertex A to a trisngle ABC with sides [AB] = § cm, |[BC| =4 cm, [CA| =3 em

-{_C;Jiruﬂjtﬁ\.{‘l-.lfulugc.jichf H f#:.:.;l." -5
Prove that: One and only one circle can pass through three non-collinear points,

or/L

DLt P it 380 Cof oS eing S et
Prove that ! The opporite engles of any quadrilateral inscribed in & circle are supplementary
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PAPER CODE - 7191

(10" CLASS - 12018)
w50 = =3 (T};;,-’.:lr') 1
15= A Gy o
/i l.fuls.d.v‘dib‘f..:...—ri’...-mc—gﬁuubié-h‘-‘-'«ﬁd'ffﬂ.érdff u&e:DnA,B,C ezl A Lldir s ER P
h’x:.r".l-ﬂ._-l.r’uf.u_ﬂ...-n’JL./ P LS i ien L oy P
1 A
Two linear factors of x* — 15x + 56 are 3 B3 sLnl Xt - 15x+56 | (1)
x+7), (x+8) (D)  (x-T), x-8) (O (x+7), (x-8) (B) -7, (x+8) (A
Roots of the equation 4x’ —5x+2=0 are gL AX-5x+2=0 =il | (2)
Equal ., (D) Rational J¢ (C) Imaginary F 7 (B) Irrational JvZ(A)
«? + % is equal to s x2+pE | (B)
x+B8 (D) (x+pP-2xp © %4%(3) «2- B2 (A
Find x inproportion 4:x :: 5:15 ’d_'{r;l"xutd:x::S:lS |4
o @ (i® T W
The fourth proportional w of x:y :t viw is e wWBEgs xiy mviw [(5)
i ® xyv © 2 ® z W
e (R ﬁs{fg‘ ------ g = |®
Identity =41 (D) an improper fraction S (C)an :quat?gu\}iqp ~(B) a proper fraction “/_2is (A)
Point (-1 , 4) lies in the quadrant 4 ’PL(\\? ernfiA-1,4) & | (D
<;{ m © II(B I (A
Aset Q={5/a,b €ZAb=0} iscalledaset: erfer Q={3/a,b €ZAb=0}|(®)
N“‘f tm‘alnumbers Jxsi).4 (B) Whole numbers s (A
@} uonal numbers s *v (D) Irrational numbers ».17¢Z (C)
'/\ c;..mf...._._-..----.,..i_._{..sr"-' ¥ fie b Lo X ;:"u/ @
Sum of the deviations of the vanablc X from its mean is always ———————eeeeemmv
Two s (D) Same L».[i (C) One £ (B) Zero #(A)
3;11'. radians = =4 34—" (100
30° (D) 150° (C) 135° B) 115° (A
Through how many non-collinear points can a circle pass ? : tetiS e S50 (A %
Four 4 (D) Three ¢ () Two »(B)  One L (A)
A circle has only one P S— 1 g PV TS O OV
Centre 7/, (D)  Diameter 4 (C) Chord 7 (B) Secant CGs (A)
By ST 68 00 #30° T K L e Lo TS Esfe i | (13)
Out of two congruent arcs of a circle if one arc makes a central angle of 30° then the other arc will
subtend the central angle of .. |
60° (D) 45° (O 15° (B) 30° (W4
Tangents drawn at the end points of the diameter of a circle are  —oeeeee ——eee BLAagV s LML s
not parallel (s 7 (D) intersecting % (C) perpendicular . (B) parallel (i#(A) | (15)
How many common tangents can be drawn for two disjoint circles ? ?L.gz‘fl_-ggv_fﬁ'iﬁu,juc“a&,!n
4 M 3O 2 B 1 W
/) 26 (Obj)-12018-60000 SEQUENCE-1 DGk -~ ra Firi8




(10® CLASS - 12018)

& 210 =2 (s SV S
60 = AJF o) 810 g/
Q.No.2  Write Six short answers to the following 2x6=12 éfjaylﬁ/ﬂﬁamr{a.UCJjbu 24Ul
Define exponential equation & v flanduad |1
Write the quadratic equation —— + ’-H—i = 6 instandard form - & LA f T ¥ ? =6 b |2
Find discriminant of the r.qu.ni.ion 6x'~8x+3=0 =4 r)"‘mfuﬂ 6x’-8x+3=0 =hl- |3
Find the nature of the roots of quadratic equation 2x” +3x+7=0 E PSSl 27 +3x+7=0 Sl | 4
Evaluate (1-w-w’)’ (-w-w') ghead|s
ﬁ-r?’-,-ﬁwb»u)fl’gjuﬁégff 30+ Tx—-11=0 2blsFan | 6
Without solving find sum and product of the roots of the equation I+ Tx-11=0 '
Define Ratio | [ s fder |
Iy > and y=4 , when x=3 find x when y=24  y=24 Fga > "”ff__’-‘_;—" y=h oy 2 Ji|8
Find & third proportionalto  2°~b* , a~b B-b', a-b AL |9
Q.No.3  Write Six short answers to the following 2x6 =12 éf.gf:a(y?/ﬂﬁaulr.fa.hﬁdjbn 3/ Uir
Define rational fraction N\ f\J) ﬁ --E'/T U(/ |
Resolve into partial fraction (—x:fﬁ-:—,"?” ,\,P&\ ‘“’;—’:)—Eﬁ g L6 |2
ﬂr)")[@}‘?{:459}mx (1,4,7,9} /1|3
If X={1,4,7,9 } and Y={2,4,5,9) ThenFind XNY ,a&
f\'( GxA sSAxB JnB={2,5) mA=s{1,2.3} 1|4
If A=(1,2,3) and B={2, 5}'rhenﬁndmam?®
Define function {QQ} é..eiJJw' 5
Find » and b , if (a-4,b-2)=(2,1) (a=4,6-2)=(2,1) Jigi b s | 6
Define arithmatic mean . &yl [ 1
Find the geometric mean of the observations 2,4,8 @rﬂ"‘bﬁufg‘rﬁ.ﬂ 2,4,8 =ls | 8
Find mode for the data 9,3,8,8,9,8,9,18 g bond £ 9,3,8,8,9,8,9,18 47 |9
Q.No.4 Write Six short answers to the following ~ 2x6=12 é.ji;j.:..y,aﬁ’ Levrgestditn 4 Ay
Define angle of Elevation ﬁ - ,;J:r‘,;l..‘- 1
Verify the identity ~—— "~ = 1 + tan 8 MRl =14an0  gafely |2
| 4-60° i Pl 16 s KGR o SN L LT | 3
Find area of a sector of a circle of radius 16 Cm if the angle at the centre is 60°
Define obtuse angle ' ) =AY O
Define circumcircle of a triangle #_Q;J,;u,fwﬁ:,ﬂ'- 5
Define length of a tangent ﬁT—E}JJUJJI." 6
Define Segment of & circle & Snb | 7
Define central angle & w88, | 8
Define vertices of a polygon & ol |9



8x3=24 il 9 /.jdlrug devzlotrd S poy
NOTE : Attempt THREE questions in all But question No. 9 is compulsory

HOY

|' Solve the following equation by completing square 7x’ + 2x~1=0 7% +2x-1=0 ﬁ.‘waﬁﬂ}ﬁf#—l!&#d}@:
! ;

Provethat ' +y’ = (x + yXx + wyXx + wy) Xy = ok plxt wyda+wly) oot
I - .‘

| .

I

& rlim. g0l 516 =F LLTLWE2 LougL 314 2PN
If "2" is added in each number of the ratio 3:4 ,we getanew ratio 5:6 . Find the pumbers

" : : x4+ 7x+11 x247x+11
Resolve into partial fraction ETTTLIOTETY Gz ﬂ:g_kwuf;rfds?

(B)

AD)
A'UB' rgetin B={2,3,5,7), A= (1.3,5,7,9} mlg;%\l 2,3,4,5,6,7,8,9,10} A
e U=41,2,3,4:5:6,7,8,9,10), A=l 3:5,195, azﬁiz\&.w} Thenprovethat (A N B)' = A’UB
_<\ S
Calculate the variance for the data 10,8,9,7,5,12,8,6,8 %\jﬁ & 10,8,9,7,5 ,12,8,6,8,2 §£ (#* = Vit L3l

r-"x."n{/\
"“\\

(AnB)'=

(A)-7

(B)

1+Cos8 Sing ¢ ’\\‘E
1 S

1rov : —— S

Prove that — + e 2 ce

1+Cos# Sin#
Sin@ 1+Cos8

=2 cosec§ &=t

I ST eI 6.5 Sl sk Fip L fin £3m LS NN PR

Draw two circles with radii 2.5 cm and 3 cm . If their ¢entres are 6.5 cm apart , then draw two direct common tangents

(A)-8

(B)

PRIy S (x;ﬁz)}:lf( el plein s SE ot
Prove that “ A straight line , drawn from the centre of circle to bisect a chord (Which is not a diameter) is perpendicular to the chord

or /L

| “+.tnbrus..:.:f}n‘"’Lu:ruf;pwhﬁﬁﬁ¢!UL§f/WJ&-“ﬁ’;ﬂFLﬂ¢.}hﬁ :.ré’ﬁcf'
Prove that “ The measure of a central angle of a minor arc of a circle , is double that of the angle subtended by the

corresponding major arc.”

26 (Sub)— 12018-50000 pq,g.,o - 1%



LIV CLAOo T laVios
22 20= s (/) P
15= A 5y o/
Sid i 3o L perne Lt sl LD pd082-BEL e D AB,C bz K ldirs  iada
fﬂa:"ﬁwh’.iﬁu{ p1v eSS, 4:“ 2/, ,;f Uik sk -c_‘.fu A apfl
| Adir
A set with no element is called q..t‘!hf:r:-cﬂd:ru:u’-_-{ (1
SuperSet or ¢ (D) SingletonSet (£ (C)  EmptySet 2rJé (B)  Subset wF W I
The number of element in power set {1,2,3} OISl rmL {1,2,3} [ 2
9 8@ 6M® 4@
A data in the form of frequency distribution is called ctlir L PS5 | )
Polygon (s, 2 (D) Histogram 25¥ (©) Ungrouped data siv§s/ 2 (B) Grouped data i) (A)
i =ofi 3 3 | @
' 30° (D) 150° (© 135" (B) 115° (A)
The distance of any point of the circle to its centre is called ;.th_klif_f.}r P L KE Tl | (5)
anarc 7Ll (D) radius s (C) achord Z5Li (B) diameter A (A)
A line which has only one point in common with a circle is called ;,.qu.n..f' 2 B L Le ks 5L | (6)
Cosine of acircle Cosine ¥/ (C) Tangentofacircle  Tangent Ifr_ﬁ{ﬁ&‘ﬁmofncmlc Sin ¥ 7(A)
\_/kecant ofacircle Secant ¥/ (D)
fﬂ-_@ﬂyd;ﬁf(m&w-q_ 60° LSS ¥ i L1 | (D)
If an arc of a circle subtends a central angle of 60 , then the mWWMoﬁhu arc will make the central angle of
’é"\’@ 80° (D) 60°(C) 40° (B) 20° (A)
A line intersecting a circle is called ~N\ ¢ ¥ ﬁ‘..t'l.‘-;fﬁb‘/r&? fe 25| (8)
B s (D) Chord 7 (C) Secamt I (B) Tangent JW(A)
How many common tangents can be drawa . two disjoints circles ? Tmélg;d_rgb’.f}?éf&us}hdﬁju (C))
1@ 4@ 3B 2W)| |
An equation of the type 3* +37*+ 6=0 is a/an | Liee P +37 4620 bl | (10)
Reciprocal equation =is~/5* (C) Radical equation w=is-sie (B) Exponential equation =ti~(li=f (A)
Quadratic equation =lsl~fn (D)
If <,B arctherootsof 7x -x+4=0, then 3 is .;.4!405{5‘?;):&}:;& Txa—x+4¥0 =hiof S 1 an
-4l7 © 74 © 41® -1/7 W
Product of cube roots of unity is e PL A L6 | (12)
3@ 1@ -1 ® oW
In proportion atb ¢ ¢:d, b and ¢ are called AU e b L atkiicid ot | (13)
means 25 (D) fourth proportional 572 (C) extremes 2 (B) third proportional -t (A)
Find x inproportion 4:x :: 5:15 G x L arxi 515 oA | (14)
12 M % (© 4/3 B 75/4 (W
| Partial fractions of 'uf.:ﬁ are of the form . L [ ‘ 2§ m (15)
Tmte feBe Zele Ariw
| /
/ 28 (Obj) ~12018-60000 SEQUENCE -3
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&210=35 (/) G
60 = A (o) 1o rasn
Q.No.2  Write Six short answers to the following 2x6 = 12 %‘;j 22 L gae Bdibs 24
Write the quadratic equation 32;4 - ; = 1 iothe standard form n‘.'!g,ﬂfdtl_-v:( x’;-i - ;= 1 zibeFos | !
Define radical equation & ek | 2
GO 93042520 whieGundn | 3
Find the discriminant of the given quadratic equation 9x° -30x+25=0
_ %(;”J,j.uurﬁ’if’uﬁ. Px'—gqx+r=0 etboBandnHZ L2 | 4
Without solving , find the sum and product of the roots of the quadratic cquation Px—gx+r=0
& eradl « B2 Junful 4 -5x+6=0 =it o< SIS
If o¢ . [} are the roots of the equation 4x° — 5% + 6 =0, then find the value of «? 32
Form a quadratic equation whose roots are -2,3 & 2,3 Ul e bietaZon | 6
Define joint variation #..yid’ﬁ.ﬁr-" 7
Find third proportional a°~b* , a—b a'-b', a-b @ L |8
[f 3(4x-5y) = 2x—Ty , find the ratio x: y &2 xty =7 Max-sy)=2x-7y S | 9
Q.No.3  Write Six short answers to the following 2x6 =12 ;—@%}? Vo L#Ulrgabﬂgb&;: 3 AUl
 Define identity Q0 C\(—’) & feL |
Ff.sf,lff‘i the fraction "J"T’f;-;ﬁ—l into proper fraction (%5;59“ g kS s ﬁf&? 2
(AUBY = AN B’ J& =) A={1,3,5,7,9}, Béiéﬁj/sﬂ U={1,2,3,4,5,6,7,8,9,20} /i |3
If U={!,1,3,4,l5 ,6,7,8,9,10},A={1,3,5,7,9}, 3@7@%5.7} then verify that (AU"B*):f:_.ﬂl'ﬂn B’ -
Define intersection of two sets ~{\© 5 | &y Sl l s | 4
O B b P M= {d,e,f.g) AL={a,b,cl A | S
if L={a,b,c} and M={d,e,f,g} then ﬁgﬁ\\hiyhbinnryrcinﬁansinl.xu
& (* Range 1 Domain ¥ R 7 R=((2,4),(3,6),4,8)} V) |6
Suppose R={(2,4),(3,6),(4,8)} find (i) Domeinof R (ii) Rangeof R
Define class limits in frequency distribution g_{..éfL;:r#L-ﬁ'iﬂL}:L}:#f-,’-er:ﬂ 7
Find median of 2.3,2.7,2.5,2.9,3.1,1.9 2.3,2.7,2:5,29,3.1,1.9 & sl tits | 8
12,14,17,20,24,29,35 45 & batdloWilye 3 bbbt | 9
Find arithmetic mean by direct method of the following data 1-2, 14,17,20,24,29,35,45
Q.No.4  Write Six short answers to the following 2x6 =12 .:iff;;’.:.y'g/ﬂ'ﬁ.-.mngc.ddibu 4 A
Define Quadrantal anige ﬁf -3 /TJ:;JUCSJ 1
Find “r" when f=4cm,6‘=_§_mﬁm P=4cm,3=imdian ﬁ_ﬁr# 72
Prove that Cot @ Sec 8 = Cosec @ Cot 8 Scc @ = Cosec @ S22 =t | 3
Define Acute angle é Y /'7 J Hinle | 4
Define circumcircle &2 G| s
Define length of a tangent . ﬁ-—'—!f?JJUJJU 6
Define Circum Angle & Pltifw | 7
| Define perimeter &y s | 8
Define Diameter ﬁ-.'_.yi;f “H" 9



1’11,.0

| corresponding major arc.”

Bx3 =24 «di 9 ArFa izl ctirf Sk oyt ad
NOTE : Attempt THREE questions in all But question No. 9 is compulsory
- - 1
!_
Solve the equation x'=2x-195=0 by completing the square ﬁJ;d;ff X 2x-195=0 oble | (A5
UHE ‘ g JJ;LU’Z.?,EGAJL#(;IFUHJNL Kz ~Ix+6=0 =nl- sB , o )'I (B)
If o¢, B are the roots of the equation X° — 3x + 6 = 0, form equation whose roots are % ‘ 5
| 10nP ;¢ m+Sn | m+5P " ; .
= T Jigerredd TR Lnl SJerad S | (A6
: _ m+5n m+5P _ l0nP
Using theorem of componendo-dividendo find the valuc of = + — e |
A
. . 5 1 —~
Resolve into partial fraction PR ey \\r_})\- = l)zt’x+ D #gkb, L6z | (B)
~N\©
QL) i B
\\‘_,/L et r
| AN(BUC) = (ANB)WANC) fg‘.'...-emf 4.,8),B={2,4,6,8) , A={1,2,3,4,5,6} Ji |7 |
't A={1,2,3,4,5,6},B={2,4,6,8},C= {: sg\%memn ANBUC) = (ANBIU(ANC) ‘
‘\\ﬁ E oo i Al 60,70,30,90,80,42 LPLLuF g | (B)
The marks of six students in mathematics a.rc\‘l'ol]ows 60,70,30,90,80,42 I-md variance o
Verify the identity Tan 8 + Cot @ = Sec 8 Cosec 8 Tan @ + Cot@ = Sec B Cosec 8 & =BtV | (A)-g
i @?fJVJ}#JJ‘;‘u?Hr"ﬁ,Hi}kufﬁf&cﬂﬁgﬂ 235 J'JJLG’TL&?’GJ‘”) ‘ ®B)
| Draw two circles with radii 3.5 cm and 2 cm . If their centres are 6 cm apatt , then draw two Transverse common tangenis
Prove that perpendicular from the centre of a circle on a chord bisects it ﬁ-;.l.'f o d/ VT 4?:0"— 7, sl 1S #.- =t -9
oR /4
|
"g.l.'.ﬂ’.‘rﬁ:.v:-._.«JI}uj-{:-;,:rdfiw’&fﬂﬂﬁ._.ﬂ}dffﬂua.;-tf..“pr?ucé_fluff" '-.r#;-:f
' Prove that “ The measure of a central angle of a minor arc of a circle is double that of the angle subtended by the

28 (sub)- 12018-50000 DY e 1 0= 2 =1 €



